ALUMINUM EXTRUSION
PROFILE AND ACCESORIES

NMeEeX—AFRAINVMEeE

yw

INDUSTRIAL



E NMeEeESX<F IR ANV

PART NUMBER
MM-90x90 MM-
45x90 MM- EXTRUDEDALUMINUM
45x45 MM-
45x45HR Length: 20ft (6.1mt) ;
MM-45x45LR :
MM-40x40 :
MM-30x30
MM-20x20
MM-60x60
MM-30x60
MM-45X45R

DESCRIPTION

Aluminum vs Steel

Think about the fact that, volume for volume aluminum is one third the weight of iron, steel, copper or brass. Yetit has yield strenght
of 35, 000 psi, which means it is comparable to A36 steel carbon (frequently used in applications such as equipment and machinery
supports as wel as building frames). Furthermore, aluminum is resilient and can flex under loads or reshape itself after the shock of
impact.

80/20 T-slot Aluminim Welded Steel Frame
Modulasityis justa partof themanybenefitsaluminum offersto thoselookingfor For theskilledwelder,steelcanbea viableoptionbut
an altemative tosteeland iron. Otherbenefits: formanyit’snotan optionformany reasons:
-Weighs less than steel -Costs less than steel -More timeand labor -More expensive
-Corrosion-resistant -Strength similar to steel -Weldingrequired -Needspainting
-Noweldingrequired -Machining not required -Machining required -One fixeddesign
viratechnologies.net

Mexico - USA

Julimes 6002 Col: Nuevo Hipédromo @ 6930 Market, Suite E El Paso, TX 79915 US

C.P 32685 cd Juarez, Chihuahua Sergio Nava snava@borderstatestech.com

sales@viratechnologies.net % Tel: Oficina 01 915 613 4191 ESA ﬂ
. Tel.Ofidna+52 (656) 664 7180 EXT: 107 %« Celular (656) 418 0730

¢, Celular (656) 185 5192 E E



mailto:sales@viratechnologies.net
mailto:SergioNavasnava@borderstatestech.com

ALUMINUM EXTRUSION PROFILE AND ACCESORIES

Hardness (Webster): 90x90
T5 (9-11 Wb) A = 24,1 cm?
2 (Gl Ix =211,1 cm?*
Matting 12 microns ly =211,1 cm
MM-90X90 i Aplicati‘on: Wx = 46,9 cm?
& Anodized Wy = 46,9 cm?
i Film Thickness: i 5;( i
12 to 14 microns =Ly
Sealed:
1 drop of 40% nitric acid
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(em?) INERTIA RESISTANCE m (kg/m)
Ix (cm’) ly | Wx(cm’) Wy (cm®)
(cm’)
10 38,4 299,8 66,7 10,4
299 66,
,8 7
oy | I | | |
6063 |0.20-0.60 [0.45-0.90 | <0.35 | <0.10 | <010 | <010 | - <0.10 | <0.10
MM-45x90
= Hardness (Webster): 45x90
T5 (9-11 Wb) A =154 cm?
= el Ix= 124,6 cm*
Matting 12 microns ly = 32,8 cm
= = < Aph(zn.on: Wx = 27,7 e
Anodized Wy = 14.6 cm’
Film Thickness: y=140cm
= 12 to 14 microns ul Saal eyl
B Sealed:
- o= S 1 drop of 40% nitric acid
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(cm?) INERTIA RESISTANCE m (kg/m)
Ix (cm*) ly Wx (cm?®) Wy (cm®)
(em’)
10 15,4 124,6 27,7 4,2
32, 14,
8 6
oy | | | I I
6063 |0.20-0.60 [0.45-0.90 | <0.35 | <010 | <010 | <010 [ - <0.10 | <0.10




E MeEeEXFRAME

MM-45x45

| = . Hardness (Webster): 45x45
— F ‘ T5 (9-11 Wb) A =75cm?
‘ e ‘ Color: Ix = 13,8 cm*
j ‘ 1 Ma.tti.ng 12 microns ly = 13,8 cm*
Q GO Wx = 6,1 cm?
b \ Anodized '
¥ ) ¢ “ y Wy = 6,1 cm’®
I‘iy : \T‘ Film Thickness: my—20k s
| h “—‘ | " 12 to 14 microns S s
&2, LN ‘ Sealed:
1 drop of 40% nitric acid
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(em?) INERTIA RESISTANCE m (kg/m)
Ix (cm*) ly Wx (cm?®) Wy (cm’®)
(cm’)
10 6,0 1,7 11,7 5,2 5,2 1,6
M omposi| %S %Mg %Fe %Cu %Mn %Cr INi %In %Ti
tion
6063 | 0.20-0.60 | 0.45-0.90 <0.35 <0.10 <0.10 <0.10 : <0.10 <0.10
MM-45x45HR
Hardness (Webster): 45x45HR
T5 (9-11 Wb) A = 6,6 cm?
= Ix = 11,0 cm*
MaIttiIIg 12 microns ly = 10,7 cm*
Aptication: Wx = 4,4 cm’
Anodized . 4’ 8 e’
10 Film Thickness: y=4.0¢
12 to 14 microns m =1,8kg/m
Sealed:
1 drop of 403/ tFENIgges-net
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF
A(cm?) INERTIA RESISTANCE
Ix (cm*) ly Wx (cm?®) Wy (cm®)
(cm’)
10 3,6 11,0 4,4 4,8 1,8
10,
7
Aoy | | I I I
6063 |0.200.60 | 0.45-0.90 | <0.35 | <0.10 | <010 | <010 | - | <010 | <0.10




| ALUMINUM EXTRUSION PROFILE

AND ACCESORIES
MM-45x45LR
Hardness (Webster): 45x45LR
T5 (9-11 Wb) A =4,9cm?
Color: Ix = 8,6 cm*
. Matting 12 microns ly =8,6cm’
) Ap“mt‘ionz Wx = 5,0 cm?
Atnod1'zed Wy = 5,0 cm’
F1lm'|'h|d(ness.' m = 1,3 kg/m
12 to 14 microns
10 Sealed:
1 drop of 40% nitric acid
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(em?) INERTIA RESISTANCE m (kg/m)
Ix (cm*) ly Wx (cm?®) Wy (cm’®)
(cm’)
10 4,9 8,6 8,6 5,0 5,0 1,3
M omposi| %S %Mg %Fe %Cu %Mn %Cr INi %In %Ti
tion
6063 | 0.20-0.60 | 0.45-0.90 <0.35 <0.10 <0.10 <0.10 <0.10 <0.10
MM-40x40L
Hardness (Webster): 40x40L
T5 (9-11 Wb) A =5,6 cm?
Color: Ix = 9’1 cm?
Matting 12 microns ly = 9,1 cm*
« 19
Aplication: Wx = 4,5 cm?
Anodized Wy = 4,5 cm?®
13 Film Thickness: 1 5ke/
12 to 14 microns m =1,okg/m
Sealed:
1 drop of 403/ tFENIgges-net
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(cm’) INERTIA RESISTANCE m (kg/m)
Ix (cm*) ly Wx (cm?) Wy (cm®)
(cm’)
10 5,6 9,1 9,1 4,5 4,5 1,5
Ml omposi| %S %Mg %Fe %Cu %Mn %Cr N %In %Ti
tion
6063 | 0.20-0.60 | 0.45-0.90 <0.35 <0.10 <0.10 <0.10 <0.10 <0.10




MM-30x30

MM-20x20

'2

E MeEeEXFRAME

l

Hardness (Webster): 30x30
T5 (9-11 Wb) A =3,1cm?
Color: Ix =2,8 cm?
@ 7 30 Matting 12 microns ly =2,8cm*
= Aplication: Wx = 1,8 cm?
ﬁ. Anodized Wy = 1,8 cm’
Flm Thickness: m = 0,9 kg/m
12 to 14 microns
8,30 Sealed:
1 drop of 40% nitric acid
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(em?) INERTIA RESISTANCE m (kg/m)
Ix (cm*) ly Wx (cm?®) Wy (cm’®)
(cm’)
8 3,1 2,8 2,8 1,8 1,8 0,9
M ompos| %S %Mg %Fe %Cu %Mn %Cr INi %In %Ti
tion
6063 | 0.20-0.60 | 0.45-0.90 <0.35 <0.10 <0.10 <0.10 <0.10 <0.10
~ 30 > Hardness (Webster): 20x20
T5 (9-11 Wb) A =1,6 cm?
Color: Ix = 0,7 cm*
Matting 12 microns ly = 0,7 cm*
Aplication: Wx = 0,7 cm?
Anodized Wy = 0,7 cm®
Film Thickness: 0’4 o/
12 to 14 microns m = 0,4kg/m
. Sealed:
' 1 drop of 403/ tFENIgges-net
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF
A(cm’) INERTIA RESISTANCE
Ix (cm*) ly Wx (cm?) Wy (cm®)
(cm’)
10 1,6 0,7 0,7 0,7 0,7 0,4
Ml omposi| %S %Mg %Fe %Cu %Mn %Cr N %In %Ti
tion
6063 | 0.20-0.60 | 0.45-0.90 <0.35 <0.10 <0.10 <0.10 <0.10 <0.10




MM-60x60L

MM-30x60

Hardness (Webster): 60x60L
T5 (9-11 Wb) A =9,6cm?
Color: Ix= 32,4 cm*

§ Matting 12 microns ly = 32,4 cm’
Aplication: Wx = 10,8 cm?®
pnodized Wy = 10,8 cm’
12 to 14 microns m = 2,6 kg/m
Sealed:

1 drop of 40% nitric acid
1 drop of 1% aluminum blue
SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(em?) INERTIA RESISTANCE m (kg/m)
Ix (cm?) ly Wx (cm?®) Wy (cm®)
(cm’)
10 9,6 32,4 10,8 2,6
32, 10,
4 8
Aoy) | I I I I
6063 |0.20-0.60 | 0.450.90 | <0.35 | <0.10 | <0.10 | <0.10 | <0.10 | <0.10
Hardness (Webster): 30x60
T5 (9-11 Wb) A =55cm’
Color: Ix =19,6 cm*
Matting 12 microns ly = 5,1 cm*
Aplication: Wx = 7’0 cm?
Anodized Wy = 3,9 cm®
Film Thickness: m =1,5kg/m

12 to 14 microns
Sealed:

viratechnologies.
1 drop of 40% nitric acid
1 drop of 1% aluminum blue

SPLINE PROFILE SURFACE MOMENT OF MOMENT OF VOLUME
A(cm?) INERTIA RESISTANCE m (kg/m)
Ix (cm*) ly Wx (cm?) Wy (cm®)
(cm’)
8 5,5 19,6 5,1 7,0 3,9 1,5
et omposi| %S %Mg %Fe %Cu %Mn %Cr N %In %Ti
tion
6063 | 0.20-0.60 | 0.45-0.90 <0.35 <0.10 <0.10 <0.10 <0.10 <0.10




L,

Direccion: (=) E-Mait n Ligmanos:
Julimes #6002 A Sales@viratechnologies.Net +52[656]418.0730

LI T 10

G nneennasnsn s L . . |

QUSNE  sssssssssssssEsssssssssssssEsEssss 8 .-
= - o
L g 12

8
o 12

.............. EEsssssssssssEsssssEe 13

%é T } ................................... 13

: @ ---------- EEENEEEEEEN L 9 S 13

& e ~
Y - R —————— (I [ o - O ————— 14




L,

Direccion: {=) E-Mail h Liamanos;
Julimes #6002 b sales@viratechnologies.Net +52[656]418.0730




Socket Head Gap Screw Compatibility code | A | B | Weight(kg) | Model
12 0.01 5249
MEXFRAME 16 | 0.011 5110
— 20| 0.013 5149
< 25 0.015 5111
. 30| 0.016 5250
= 35| 0.017 5251
Compatibility code A B | Weight(kg) | Model 40 0.019 5112
@ M4 | 16 | 0.003 5300 mg 43| 0.021 5038
= 8 0.002 5239 60 0.027 5150
< 10 0.002 5140 65 0.029 5234
o3 12 | 0.003 5358 SHics 70 0.032 5261
("] M5 | 16 0.004 5146 80 0.037 5151 H
S 20| 0.006 5230 85 0.04 5252
o 25 | 0.007 5242 100| 0.045 5152
0 30| 0.008 5255 110| 0.049 5153
" i 12 |  0.005 5147 120/ 0.051 5154
16 0.006 5148 30 0.037 5113
20| 0.007 5109 20| 0.047 5155
25 | 0.011 5232 50| 0.057 5114
vie | 30| 0013 5243 MI2 [ — s B
32 g'gi;’ ?;Zg 80| 0.087 5116
a4 ; .
45 |  0.019 5246 100f 0107 | 5117
50| 0.022 5247
60 | 0.025 5248




@ ‘Button Head Socket Screw ( Compatibility code | A | B | Weight(kg) | Model
12| 0.075 5223
MEXFRAME N 16 0.009 _Slﬂ-
— 18 | 0.0095 5103 |
g = BHSCS M8 |20 | 0.01 5104
— k J 25| 0.012 5105
o 30| 0.014 5106 |
Compatibilitycode | A | B | Weight(kg) | Model 40 0.016 5107
6 | 0.001 5295 |
@ 8 | 0.001 5160
3 M4 | 10 | 0.0015 5161
e 12| 0.002 5162
P 16 | 0.003 5163
S 8 | 0.002 5094
o 10| 0.0025 5095
b s | 12| 00035 5096
BHSCS 16 | 0.005 5097
20| 0.007 5240
25 0.009 5241 Compatibility code |[A| B | C |D| Weight(kg) | Model
10| 0.003 5098 30/53|M12/ 8| 0.029 5108
12| 0.0035 5099 BHSES 30(5.7|M12(10| 0.032 5217
Vg | 16| 00045 5100
20 | 0.0055 5101
25| 0.0065 5164
35| 0.008 5165




Screws & Nuts

@ ] FIatﬁSnclel Head E“"EL 7,

MEXFRAME -

Compatibility code | A | B | Weight(kg) | Model

25 0.021 5092

FRSGS M12 30 0.025 5093
Drop-in T-studs(GB]

Compatibility code | A B | Weight(kg) | Model
M4 | 10 0.001 5084

8 0.0015 5227

10 0.002 5085

M5 | 12 0.003 5256

16 0.004 5253

20 0.005 5254

10 0.003 5086

12 0.004 5087

FHSCS M6 16 0.005 5088
18 0.006 5231

20 0.007 5156

30 0.008 5157

16 0.0075 5089

20 0.009 5090

M8 | 25 0.01 5091

40 0.014 5158

45 0.016 5233

Model |A| B | C | D | Weight(kg) | Compatibility code
5237 | 16| 0.005
5039 |10| 6 |M6|20| 0.006 30
5040 25| 0.007
5278 | 16 0.01
5042 | 20 0.011
5043 |14| 8 |M8|25| 0.013 40
5044 | 30| 0.015
5045 35| 0.017




Drop-in T-studs(0B) [ 1 Threaded Insert

MEXFRAME

r c

B
A | B | C | D| Weight(kg) | Compatibility code .
10 0.002 Model A B Weight(kg)
12| 0.003 - 5078, M5 8 0.001
103/ 6 | M5 | 16| 0.004 |
a ol o5 5079 M6 8 0.0015
g 25| 0.006 5080 10 0.002
o3 16| 0.007 5159 8 0.002
16 | 8 | M6 20| 0.008 30 Encal
g T 5081 M8 10 0.003 n
o 16| 0.009 5224 20 0.006
3 20| 0.1
N 23] 0.0 Wedue Floor Ancher
18 M8 (25| 0.013 40 _ — s
30| 0.014
5 s i ©)
16| 0.01 5]
20| 0.013 c
19.5/8.5| M8 (25| 0.015
35| 0.018
40 0.02 45 Model A B C D Welght(kg)
30 0.02 5267 51 10 M6
35| 0.023 5268| 92 14 M8
205110 | M101, 75 020 5269, 93 17 M10
50| 0.032




MEXFRAME

2
=
2
3
(4]
S
4
Q
A

M

Pull Ring

Model | A | B | C |D | Weight(kg)
5208 | 14 | 36 | M8 |21 0.05
5209| 16 | 51 M12|27| 0.152
5210| 30 | 61 |M16(35| 0.241
Screw Sleeve ‘

NNNNNN

D LD S

R

N

Sljde-in Ecnnnmg T-Epgs

D | Weight(kg) | Compatibility code |
! M4 0.003 208
5339 | 10.8 | 15.87 | 1.5 M5 0.003
5340 11.25 | 15.87| 3 M5 0.004 758
5341|11.25|1587| 3 M6 0.004
5342 | 13 20.6 3 M5 0.006 308
5343 | 13 206 | 3 M6 0.006 0
5344 | 16 25 3 M8 0.008
5345| 16 | 25 | 3 |5/16-18 0.008

408B
i Drop-in T-nuts(GB) n

Model | A | B C | Weight(kg) | Compatibility code
5291 | 31 |6.2| M12 0.013 40
5293 | 27 | 5.2 | M10 0.008 30
5294 | 24 |4.2| M7 0.003 20

Model A B C | Weight(kg) | Compatibility code
5034 M4 0.002
5035 10 6 M5 0.002 30
5036 M5 0.003
5037 14 8 M6 0.003




B Drop-in T-nuts(0B) (e 1 | Roll-in T-nuts with Ball Spring
MEXFRAME A
: g n \../\
B \
g@ 71 -
\c
[ Model A B C Weight(kg) | Compatibility code
5001 M4 0.0015
5002|105 | 6 M5 0.0015 20 | Model [A] B C | D |E|Weight(kg) | Compatibility code
5003 10-32 0.0015 5046 M4 0.0035
L] BT
N 004 M4 | 0.004 504722 78 w5 |*®|® [ 00035 i
2 5005 M5 0.004 5048 M5 0.0075
oJ 5006 | 15.5 | 8 M6 0.004 30 5049 M6 0.0075
" 5007 10-32 0.004 5050(21 13 | M8 |7.8(8| 0.0075 30 m
S 5008 1/4—20| 0.004 5051 10-32 0.0075
2 5009 Ma 0.006 5052 1/4—20 0.0075
Q 5010 M5 0.006 5053 | M5 0,011
n 5011]195| 8 | Me 0.006 " 5054 M6 0.011
5012 10-32 0.006 23%23 13.8 13’}; 888 ggﬁ 40
5013 1/4—20 | 0.006 == T -
5014 | 20 | 10 M8 0.007 B == ot
5015 M4 0.008 Enes e AR
5016 M5 0.008 Eogo | M6 0,015
274 Mo | Q.00 5061 M8 0.015
S018| 20 | 10 | M8 0.008 45 5062 /23| 16 | M10 [9.8/10, 0.015 45
5019 10-32 0.008 5063 10-32 0.015
5020 1/4—20 | 0.008 5064 1/4—20 0.015
5021 5/16—18| 0.008 5065 5/16—18 0.015




M

MEXFRAME

| Roll-in T-Nut with Spring Leaf

—

./

Slide-in T-nuts(Steel

.

[ Model |[A| B C D |E| Weight(kg) | Compatibility code Model [A| B | C | D | E |Weight(kg) | Compatibility code
5257 M4 0.01 5199 M4
o 5258 M5 0.01 527010/ 9.8 | M5 |5.8| 5 0.002 20
a 2230 | 2270
S 5259 M6 0.01 5271 M6
=——20| 14 718 40
4 5260 M8 0.01 5184 M4
oJ 5290 1/4—20 0.01 5066 M5
2o ' 200 7.8
g so81| 5/16—18 601 067 |28| 155 e 6 | 0.008 30 m
r ~ . 5068 M8
2 Slide-in T-nuts(Steel] 5185 M4
Q *ﬁ« 5069 M5
e =——20| 18 7.8/ 95| 0.019 40
h i ﬂb 5070 M6
— 5071 M8
: . 5186 M4
e 5072 M5
) 507320/ 19.5| M6 |9.8|10.5| 0.021 45
5074 M8
| Model |A| B C D | E | Weight(kg) | Compatibility code | pO75 M10
5218 M4 5333 | M4
5276/16| 10 | M5 |55| 7 | 0.0061 30 5334, M5
5377 M6 533518/ 18 | M6 |9.8| 9 0.016 45D
5282 M5 5336 M8
5279/20(13.5| M6 |7.8/9.5| 0.0123 40 - 5337 M10
5235 M8




@ Slide-in T-nuts(Aluminum]

MEXFRAME

]
ny
B

/C

{

. Model |A| B | c| D | E |Weight(kg) | Compatibility code
5178 Ms|
5179 [18/15.5 /M6|7.8| 6 | 0.004 30
" 5180 M8
5 5181 ‘M5
< 518220/ 19.5 M6|7.8/9.5| 0.008 40
o3 5183 ‘M8
:
Square Nuts
;
A
(] - .
(IE
Weight(kg) | Compatibility code
0.0026
0.0026 30
0.0025
0.0062
0.0062 40
0.0061

Model A B C | Weight(kg)
5076 | 13 | 9.8 | M6 | 0.0035
5077 17 128 | M8 0.006
5166 19 13.8 | M10 0.008
Rhombus Nuts
I.Q
/ [ \#|
------------- --|B \
C
Model |A| B C | D | Weight(kg) | Compatibility code
5191 M4 | 4
5192 (21| 85 | M5 | 4 0.003 30
5193 M6 | 4
5194 M4 | 4
5195 M5 | 4
5196 30/ 10.5 M6 | 2 0.005
5197 M8 | 4




Roll-in T-nuts ~ Slide-in Econoemy Nuts

= ¢ e v,

MEXFRAME /V
/g j (\AE -

£ oY, 8
e —— >, \I ) c
— | o
A

D W@
s : :
A . J \
Model | A | B|C| D E F | Weight(kg) | Compatibility code
5200 M4 | Model |Style| A B C D E F | Compatibility code}
5201/9.4| 6 |M5| 4.1 | 56 | 16 0.005 30 5131 A# | 10.8 | 254 | 15| M4 [ |/
5202 M6 5132 | A# | 10.8 | 254 | 15 M5 [ |/
" 5203 M4 5133| B# | 10.8 /1587 | 1.5 | M4 ! |/ 20A
4] 5204 M5 5134 | B# | 10.8 |15.87| 1.5 | M5 !/ |/
g baos| 2 | © [mgl 29| 74| 20| Q009 40 5190| C# | 40 | 10 | 15| M5 | 108 |20
o 5206 M8 5225| C# | 476 | 113 | 25| M6 |11.25 25
5226 | A# |11.25| 254 | 25 | M6 r |}
A Rhombus T-nuts 5318 | A# |11.25| 254 | 2.5 | 1/4—20| / |/ 25A
; 5228 | B# | 11.25|15.87| 3 M5 / |/
2 A . 5229 | B# | 11.25|15.87| 3 M6 1]
n l b 5135| A# | 135 | 254 | 36 | M6 |l
3 / £l = 5136| A# | 135 | 254 | 3.6 | M8 ! |/
b €—< ‘7—' 5137| A# | 135 | 254 | 3.6 |5/16—18| / |/ 30A
E 5138 | B# | 13 | 206 | 3.2 M6 ! |/
\_ 5139| C# | 47.6 | 88 | 25| M6 | 13.5 30
{ < 5280 | A# | 12.8 | 206 [3.17|1/4—20| / |/
Model | A | B | C | D | E | F |Weight(kg) | Compatibility code 5141 A# | 12.8 | 28.57|3.17| M6 r\|f
5301 M4 5142 | B# | 16 |24.99|36 | M8 TRy 40A
21142 5.8 6 1 (35| 0.002 20
5302 M5 5143 | B# | 16 [2499| 3.6 |5/16—18| / |/
=i M5 5144 C# | 75 | 175 |36 | M8 | 16 |40
5304 |22.4|78|M5| 8 | 2 | 4 0.0055 30 T
5305 ‘M6
5306 M4
5307|25.4|7.8/M5| 8 (27| 6 | 0.0075 40
5308 M6
5309 M5
5310|26.4|9.7|M6| 10 | 3 |6.3| 0.0091 45
5311 M8




ﬁ ~ HatWahers ‘Standard T-slot Covers

MEXFRAME

Mode! o e C Weightlks} { Model | A | B | C |D| Weight(kg/m) Compatibilitycode;
5041/ 63 | 12 | 1 0.001  4037[73|5| 7 [1] o008 6A
" ~ 5266| 85 | 17 | 15 0.001 4038|102 6 |95 (1| 0019 8A
5 4040(12.2|65|11.5(1]  0.021 10A
2
o3
[ Spring Wahers m
% Econemy T-slot Govers
[ ! s A
0 C
" l

A
\
c—

Model | A B C | Weight(kg)

. D264] 65 |108] 2 0001 Model | A | B | C |D] Weight(ke/m) | Compatibility code




MEXFRAME

Standard T-slot Covers

C A

! Model A B C | Weight(kg/m) | Compatibility code
4041 8 7 | 25 0.025 6C
4042 | 10 9 4 0.046 8C
4043 | 12 (105 4 0.065 10C

Plastic Profile & Gasket

Standard T-slot Covers

Model | A |B|C|/D|E| Weight(kg/m) | Compatibility code
40441 9.2 |10(1(2|2 0.053 8
4045|123 (12]1)2[2]  0.068 10

Model | A B C | Weight(kg/m) | Compatibility code
4048 | 10 | 6.2 | 3 0.032 6
4049| 13 (93| 5 0.025 8
' |  Panel Mount Block , 1/4 Turn E
— -
- ==
=N
1184
C
A
| -
K
N\
Model |A| B C |D| E | Weight(kg) | Compatibility code
3007 (23| 20 13.5 0.01 30-8
3008 {23 22.5| M6 | 8 | 16.5 0.011 40-8
3085 (28| 23 16.8 0.012 45-10




MEXFRAME

Slide Hook(Nylon)

Locking Handle

Model

Weight(kg)

Compatibility code

3001

0.0135

30-8

3002

0.018

40-8

3003

0.021

45-10

Plastic Profile & Gasket

Slide Hook(Aluminum]

Model |A| B | C | Weight(kg) | Compatibility code
7144 (48| 12 | M6 0.034 30
7141 (48| 30 | M6 | 0.0371
713972/ 16 | M8 | 0.0795 40
714072/ 40 | M8 | 0.0876
7177 |72| 45 | M8 0.09 45

\ Model [A| B | C D | Weight(kg) | Compatibility code
3004 5.5 13.8| 0.025 30-8
3005 |60| 7.5 |@8.5| 15.8 0.03 40-8
3006 9.5 15.8 0.033 45-10




M

End Caps(0B]

MEXFRAME .
A
e @
B €]
/)
a Model |A|B| C | Weight(kg) | Compatibility code
® 4001 [20|20| @5.2 0.001 0OB2020A
O 4036 [25|25| @5.2 0.002 0OB2525A
.E 4002 (30/30| @7.2 0.003 OB3030A
_ 4003 |40(40| @7.2 0.005 OB4040A
4066 |60/60| @7.2 0.007 0OB4060A
4004 |45|45|910.2 0.006 OB4545A
4074 |60(60|©10.2 0.007 OB4560A
4005 [50(50/@10.2|  0.008 OB5050A
4006 |60(60| ©10.2 0.012 0OB6060B

End Caps(0B)

@]

o o 3\

: ) ==

[ Model | A |B| C D | Weight(kg) | Compatibility code
4075 | 40 (16| @5.2 | 29.3 0.002 OB1640A
4096 | 40 |16| @5.2 | 28.2 0.002 0OB1640B
4007 | 40 (20| @5.2 | 20 0.003 OB2040A
4047 | 80 |20| @#5.2 | 60 0.005 OB2080A
4076 | 50 (25| @5.2 | 25 0.003 OB2550A
4008 | 60 |30 @#7.2 | 30 0.005 OB3060A
4077| 90 (30| @#7.2 | 60 0.008 OB3090A
4009 | 80 (40| @7.2 | 40 0.012 OB4080A
4046 {120(40| @7.2 | 80 0.013 0B40120A
4079 |160(40| @7.2 | 120 0.014 0B40160A
4010 | 90 |45/ (410.2| 45 0.015 OB4590A
4011 (100/50|@10.2| 50 0.017 0OB50100A




M End Caps(OB] ; ]11( | End Caps(0B)

MEXERAME o
N o
O (63
Model A |B] C D E | Weight(kg) | Compatibility code . B
4015 60 |60| @7.2| 30 30 0.012 OB6060A
4080| 90 |60|@7.2| 60 | 30 | 0.013 OB6090A
4081| 120 |60 @$7.2 90 | 30 | 0015 0B60120A Model |A|B| C |Weight (kg)| Compatibility code
4016| 80 |80| @7.2| 40 | 40 | 0022 OB80S0A
4082| 120 |80 | 7.2 | 80 | 40 | 0.021 OB80120A 4078 ]40|53|@7.2|  0.005 0B4040L
0 4083| 160 |80 7.2 ] 120 | 40 | 0.022 OB80160A
- 4017| 90 |90|@102] 45 | 45 | 0.024 OB9090A
« 4018 | 100 [100/@12.2] 50 | 45 | 0.029 0B100100A
O ~ 4084| 100 [100(@10.2] 50 | 45 | 0.024 0B100100B
L - - s | .2 .
II=.I End Gaps R (0B) End Caps(&B]
\\B ] A
valh
5) Al
L:::L__I B + |
| : 1
— L J |\ ‘ s
Model | A | B C | Weight(kg) | Compatibility code ﬂﬂ n
4098 | 20 [R20| ¥5.2 | 0.001 0B2020R ‘ 4
'jgz; ;g 2;2 g?; g'ggg ogs?;;gs.zik Model |A|B| C |Weight (kg)| Compatibility code
4012 | 30 |R30| @7.2 0.003 OB3030R | = 4019 13015 ¢5 0,002 GB1530A
4013 | 40 |R40| 7.2 0.005 OB4040R
4014 | 45 |R45|@10.2 0.007 OB4545R




End Caps(GB)

C
L~

\

.

@ End Caps(GB)
— l ¢l  GBI560A | g
Model |A|B| C | D |Weight (kg)| Compatibility code
- 4085 60/15/10.2 (5.6 0.003 GB1560A
("]
(- 8
) -
o End Caps(GB)
e
=
11

Model |A|B | C |Weight (kg)| Compatibility code
4020 [20/20|@4 0.001 GB2020A
4095 |40(20|@7 0.003 GB2040A

e

Model |A[B| C D |Weight (kg)| Compatibility code
4021 |40|20|@4.2| 20 0.003 GB2040B
4088 (90/30|@5.2| 60 0.007 GB3090A
End Caps(GB] m
=
+

’ Model |A|B| C| D | E |Weight (kg)| Compatibility code
4022 (30|30/6.2/20.4|20.4 0.004 GB3030A
1023 |40|40(8.2| 27 | 27 0.005 GB4040A
4024 |60|30(6.2| 50 | 20 0.006 GB3060B
1025 |80/40|8.2167.2|27.2 0.008 GB4080A
1026 |60|60/6.2| 49 | 49 0.01 GB6060B
4027 |80/80|7.2| 67 | 67 0.015 GB8080A




M End Caps(GB) End Caps(GB)
MENERAME ! e SN @[—'
S B ] Q/ | — 5 Bl A
‘ ‘ © «J——
Model |A|B| C |Weight (kg)| Compatibility code Model |A|B| C |Weight (kg)| Compatibility code
4035 (40/40| @10.2 0.004 GB4040C 4094 |60|50| @7.2 0.01 GB6060A
- 4090 [50/50|@10.2 0.006 GB5050C
- 8
®
(& End Caps(GB] End Gaps L (GB)
G
=
w 7
Bl & & \
C|A \,/:\
¢ '/
Model |A|B| C | D | E |Weight (kg)| Compatibility code Model |A|B| C |Weight (kg)| Compatibility code
4086 {30(30| 6.8 20.4|20.4 0.003 GB3030B 4028 |60(30| 5 0.008 GB6630L
4087 |60|30| (7.2 49.4|19.8 0.005 GB3060A o 4029 |80/40

7 0.016 GB8840L I




MEXFRAME

End Caps

End Caps R (GB)

—

B ¢ \\W .
D \
Model |A|B |C| D | Weight (kg)| Compatibility code
4030 [60(30|5| 6 0.007 GB6630R
4031 80(40|7/8.2 0.014 GB8840R

Gover Gap for Inside Gorner Bracket

Model |A| B | C |Weight (kg)| Compatibility code
4056 (62| 31 |28.5 0.006 30A
4057 |68 34.5 |35.5 0.009 40A




Plastic Standard Hinge Plastic Lift-off Hinge

MEXFRAME

> i c
O+ 9
| § B
» BOnE F
| ™ & .
° A D | E |F|Weight (kg)| Compatibility code
8 30 128/9] 0.032 30CL
30 {289 0.032 30CR
s 3181| 58 |48|@6.5| 40 (28|9 0.036 40CL
z =T ‘ 3182 | 58 |48|@6.5| 40 |28/9| 0.036 40CR
[T \ Model |A| B C D| E |Weight (kg)| Compatibility code | 3183|755 148/ 96.5| 45 128/9|  0.043 A5cL
N 3012 39| 30 | @45 |20/ 14 |  0.008 20A 3184 75.5 |48/ @6.5| 45 128/9| 0.043 45CR
.0 3013 |52 45 ?6.5 [30(23.5 0.03 30A 3185| 55 |48|@6.5| 35 (28 9| 0.034 3040CL
= 3014 |60| 45 @6.5 [35(24.5 0.032 3040A 3186 | 55 |48|@6.5| 35 [28/9| 0.034 3040CR
Q 3015 60 50 | @6.5/@8.5 |40| 30 0.039 40A 3187 | 63.3 |48/®6.5/37.5/28 9| 0.038 3045CL
| oo so | ges as/s0 [ oow 4 e
8 3017 80| 102 | @9.5 |50|72.5| 0.1 50A Biso[oe s lialeslazsiosls] oan | iokcs
< \7Acessories Qry Description | Acessories | QTY Description
5084 & 5131 | 4 M4 * 10mm FHSCS & Econ T-nut 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
5087 &5135 | 4 | M6 * 12mm FHSCS & Econ T-nut 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut :gg; Z zm 3 ; m « iim"‘ E:zgz : Ec°" I‘“”:
_ * s *12mm conT-nut
5087 & 5141 | 4 M6* 12mm FHSCS & Econ T-nut 508885141 | 4 | M6 * 16mm FHSCS & Econ T-nut
-_5088 &5141 | 4 | M6 * 16mm FHSCS & Econ T-nut | 5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nut _
_ 5089&5142 | 4 | M8* 16mm FHSCS & Econ T-nut | 5087 &5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
5088 & 5344 | 4 = M6 * 16mm FHSCS & Econ T-nut
_ 5088&5344 | 4 | M6 * 16mm FHSCS & Econ T-nut




MEXFRAME

Accesories For Doors

Plastic Lift-off Hinge

A

D

N

\

Standard Hinge(AL]

D | Weight (kg)| Compatibility code |
3018 48|33 ?6.5 |30 0.028 3030AL
3075 48|33 @6.5 |30 0.028 3030AR
3019 [63/33|@6.5 40|  0.032 4040AL
3076 |6333|@6.5 40 0.032 4040AR
J Acessories Qry Description

5147 & 5135 | 2

M6 * 12mm SHCS & Econ T-nut

 5148&5141 | 2

M6 * 16mm SHCS & Econ T-nut

Plastic Lift-off Hinge
/9
'\ |© 1 @
b
A
Model |A|B | C |D |Weight (kg)| Compatibility code
3077 |50(32|/@6|30| 0.018 30BL
3078 |50(32|@6(30| 0.018 30BR
3079 |60(32|@6(40| 0.021 40BL
3084 60|32|@6/40| 0.021 40BR
\ Acessories QTy Description \
5087 &5135 | 2 | M6 * 12mm FHSCS & Econ T-nut |

5088 & 5141

2 | M6 * 16mm FHSCS & Econ T-nut |

—
A
D
L
) Bl E : [
Ol 1o
| Model |A|B| C | D |E|weight (kg)| Compatibility code
3024 |39|40|@5.5| 20 |25 0.025 20A
3025 |53/50/@6.5| 30 (30| 0.041 30A
3026 |63|50|@6.5| 40 (30| 0.055 40A
3027 |68/50|@6.5| 45 (30| 0.068 45A
3028 |57/50|®6.5| 35 (30| 0.048 3040A
3029 |65/50|¥6.5/42.5/30|  0.062 4045A
Acessories Qry Description
5085 & 5131 | 4 | M5 * 10mm FHSCS & Econ T-nut
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
5087 & 5141 | 4 | M6 * 12mm FHSCS & Econ T-nut
5088 & 5141 | 4 M6 * 16mm FHSCS & Econ T-nut
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut




Standard Hinge(AL)

Standard Hinge(In]

MEXFRAME

Model |A|B|C| D | E | F |Weight(kg)| Compatibility code
3070 55|59 @7| 31 |31.7|6.5| 0.057 30D

E 3071 (72/59|@7| 41 |31.7|6.5| 0.071 40D
-8 Model |A|B| C | D |E |Weight(kg)| Compatibility code | | 3072 |63|59|#7|36.531.7|6.5| 0.064 3040D
8 3044 39 40 ¢5.5 20 25 0.048 ZOB ‘ Acessories QTY Description ‘
- 3045 |53|50|@6.5| 30 |30 0.1 30B 5088 & 5135 | 4 | M6* 16mm FHSCS & Econ T-nut
[« 3046 |63/50|@6.5| 40 30| 0.117 408 5231&5141 | 4 | M6 * 18mm FHSCS & Econ T-nut
: 3047 |57/50|@6.5| 35 |30| 0.105 30408 -5088& 5135 | 4 | M6 * 16mm FHSCS & Econ T-nut |
@ 3080 |68|50|@6.5| 45 |30| 0.117 458 standard Hinge(Zn)
= 3082 |65(50|@6.5/42.5(30, 0.118 40458 -
o ==
a D-\\L;p__)[:{:}—__l o
8 \ Acessories Qry Description D\‘g’\ﬁl—&u ‘
(1] 5085 & 5131 | 4 | M5 * 10mm FHSCS & Econ T-nut = G
g 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut N T —

5087 & 5141 | 4 | M6 * 12mm FHSCS & Econ T-nut /é’% 0

5087 & 5141 | 4 | M6 * 12mm FHSCS & Econ T-nut 7

5088 & 5135 | 4 | M6 * 16mm FHSCS & Econ T-nut . Model |A|[B| c | D |E|F|G/|H|weight(kg)| Compatibility code

__3073]80/45/40.5/@8.5/21]66/20/8| 0.156 45D
| Acessories QTyY Description

. 5102&5141 | 4 | M8* 16mm BHSCS & Econ T-nut |



Standard Hinge(Zn) Lift-off HingelZn]
MEXFRAME :
@©)
e
Acessories Qry Description ]
5084 & 5131 | 4 | M4 * 10mm FHSCS & Econ T-nut
5084 & 5131 | 4 | M4 * 10mm FHSCS & Econ T-nut
“ 5087 & 5135 | 4 M6 * 12mm FHSCS & Econ T-nut
3 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
o 5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nut
a Model | A Weight (kg) | Compatibility code 'Zgzzzziﬁ : ’\Mﬂ:'igmm i::g::gmnl'"u‘
! *16mm con T-nut
: : 5088 & 5141 | 4 M6 * 16mm FHSCS & Econ T-nut
. 3149 | 40 0.022 201
° 3150(57.4 |43|@7| 31 (24| 7 0.073 301 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
“ 3151 | 67.4 |43 ¢7 41 (24| 7 0.081 40| 5087 &5135 | 4 | M6 * 12mm FHSCS & Econ T-nut E
E 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut
(/] 3152|72.4 |43|@7| 46 (24| 7 0.085 45l 5087 85135 | 4 | M6 * 12mm FHSCS & Econ T-nut
.0 3153|62.4 |43|@7| 36 (24| 7 0.077 30401 5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nut
E 3154 | 64.9 |43|@7/38.5(24| 7 0.08 3045] - eob. .o o 8
| 3155|69.9|43|¢7(435/24| 7 | 0083 | 4045! | Model | A |B|C| D |E|F |Weight (kg)| Compatibility code
0 3156 | 40 |30|/@5 21 14|43 0.022 20JL
M [ Acessories |QTY Description | 3157 | 40 |30|@5| 21 14|43  0.022 20JR
2 5084 &5131 | 4 | M4 * 10mm FHSCS & Econ T-nut 3158 |57.4|43|@7| 31 24| 7 | 0.073 300L
5087 &5135 | 4 | M6 * 12mm FHSCS & Econ T-nut 3123 2;2 g g; Zi zj ; gggi ig’l"z
5088 & 5141 | 4 M6 * 16mm FHSCS & Econ T-nut : - | -
5088 & 5141 | 4 M6 * 16 FHSCS & E T-nut 3161 | 67.4 |43|@7| 41 24| 7 0.081 40JR
| o <on 1-hy 3162|724 |43)@7) 46 24| 7| 0.085 45)L
5087&5135 | 4 | M6 - 12mm FHSCS & Econ T-nut 3163 | 72.4 |43|@7| 46 24| 7 0,085 450R
| 5088 & 5141 4 M6 * 16mm FHSCS & Econ T-nut 3165 | 62.4 143 ¢7 36 (24| 7 0.077 3040JR
3166 | 64.9 |43|(@7/38.5 24| 7 0.079 3045JL
3167 | 64.9 |43|(7(38.5 24| 7 0.079 3045JR
3168 | 69.9 |43|@7|43.5/24| 7 0.083 4045JL
3169 | 69.9 |43|(743.5(24| 7 0.083 4045JR




E Standard HingelAL) A Standard HingelAL)
280 | 308 | = e
MEXFRAME A :ﬁt & J } 73
) i E
D i ” r f’ . @
©1® = Lo
L gl \ \ J
| \ Model |A|B| C |D| E |F |G Weight (kg)| Compatibility code
@ @ ; 3120 /50/50(@6.3 (30| 15 (13| 8 0.072 30H
0 il B 3121 62|60|@8.3|40| 20 [13|8 0.11 40H
s | _3122|74|70|@8.3|45|22.513|10  0.16 45H
8 _ Model | A |B| C | D |E|F|Weight (kg)| Compatibiity code A;f:;ogessooe Q;Y M6 * 12mmDse:érleglgrr‘op-in T-nuts
s gg:; 43965 :(7) gz: ;i ;(S) i: ggi; ;gﬁ 5110& 5014 | 6 | M8 * 16mm SHCS & Drop-in T-nuts
22 ' : 5149&5018 | 6 | M8 * 20mm SHCS & Drop-in T-nuts
('8 3054 | 60 60 @6.5| 41 |40/5.5 0.06 40C . .
(/] 3057 | 71 |60 @6.5| 46 (40/5.5 0.07 45C Standard HingelAL] m
.0 3055 71 |60 (6.5 43.5/40/5.5 0.065 4045C A
- 3083 60 60 @6.5 36 |40/5.5 0.06 3040C D
8 3142 71 |80/@6.5| 51 |25/5.5  0.092 5050C
0 MY W Wl e
(1] { Acessories Qry Description ol #
Q 5335 & 5132 | 4 MS * 8mm FHSCS & Econ T-nut L L
< 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nut S
5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nut ; .
5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nut ' Model |A|B| C |D|E |F|Weight (kg)| Compatibility code
_ 5088&5141 | 4 | M6 * 16mm FHSCS & Econ T-nut 3123 |60/50/¥6.5|31{30/5]  0.052 30N
3124 |60/60|06.5|41/40(5 0.063 40N
_3125|60/60|@6.536/35/5|  0.063 3040N
Acessories Qry Description
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nuts
5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nuts
_5088&5141 | 4 | M6 * 16mm FHSCS & Econ T-nuts |




E Standard Hinge(AL) Lift-off HingelAL
MEXFRAME = T -
' NHP
. s e @
C ! :
L \ = E B
(P - N i
B| E & | [P
i ¢ :
— @ 1 iF
| ™ Mode A |B| C | D|E Weight (kg)| Compatibility code
i /_T@\—\ 5 del F ht (kg) bility cod
8 3130| 36 |47|@5.5| 21 |25/3.5  0.022 20F-L
, — 3131| 36 [47|@5.5| 21 |25(3.5 0.022 20F-R
(=] { Model |A [ B| C |D E|F|G|Weight (kg)| Compatibility code 3132 49.550/@6.5| 31 130145 0.043 30F-L
s 312660 35/06.3|5/1931| 8 | 0.037 306L 3133[49.5 |50/ @6.5| 31 [30]45] 0.043 30F-R
T 3127 160135 $6.3|519.31|8| 0.037 30GR 3134| 60 |60/@6.5| 41 |40/5.5  0.06 40F-L
o 3128 |6035/©6.3/5/19 41|10/  0.037 40GL 3135| 60 |60/@6.5| 41 |40/5.5  0.06 40F-R
@ 3129 |60/35/©6.3/5(/19 41/ 8 |  0.037 40GR 3136| 71 |60|@6.5| 46 40|55  0.07 45F-L
= 3195 |60/35|%6.3/5/19 36| 8 0.037 3040GL 3137 | 71 |60|@6.5| 46 |40|5.5 0.07 45F-R
- 3196 |60 35|¥6.3|5/19 36/10|  0.037 3040GR 3138 | 71 |60/06.5/43.5/40/5.5  0.065 4045F-L
¢ 3139| 71 |60|(6.5(43.5/40/5.5  0.065 4045F-R
8 { Acessories Qry Description \ 3140 | 60 |60/@6.5/ 36 |40|5.5 0.06 3040F-L
0 5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nuts 3141| 60 |60/@6.5| 36 |40|5.5/  0.06 3040F-R
g 5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nuts : =
5088&5141 | 4 | M6 * 16mm FHSCS & Econ T-nuts | Acessaties QY HEstiption
—_— e 533585132 | 4 | M5 * 8mm FHSCS & Econ T-nuts
5087 & 5135 | 4 | M6 * 12mm FHSCS & Econ T-nuts
5088 & 5141 | 4 M6 * 16mm FHSCS & Econ T-nuts
5088 & 5141 | 4 | M6 * 16mm FHSCS & Econ T-nuts
___50888&5141 | 4 | M6 * 16mm FHSCS & Econ T-nuts




Standard Hingel(AL) Lift-off HingelAL
A e[~
F
MEXFRAME — @ i :
B|E ——
—19 1Yo F
=A@ L I A (i © )
Model | A [B|c| D |E[F|Weight (kg)| Compatibility code |
3177 | 60 |42|/@7| 31 |25|6] 0.057 30K | Model |AlB|l ¢ | D] E|F|G|H]|I|weight (kg)| Compatibility code |

2 3178| 60 |42|@7| 41 [256| 0.057 40K | 3103 | 0.079 3030E-L
o 3191| 60 [42|@7| 36 |25/6] 0.057 3040K 3104 |51 ?6.3| 30 0.079 3030E-R
-] 3192 74.5 |42|@7]43.5(25(7|  0.071 4045K | B § o
(=] 257 0.071 45K ol o e
: 3110(57| |@6.3 35 0.085 3040E-R
'5 g9\7] 00 50K ‘ 3116 - | 0.064 3040€
L ’ 3197 0.093 3045E-L
0 Lift-oft Hinge(AL) 3143 (63 $8.3|37.5 10, 0.093 3045E-R
A 3144 0.068 3045€

Q 31 .
- =, 3106 ‘ 0.09 4040E-L
0o @ 3107 |63 40 0.09 4040E-R
N 1S 3108 gl 007 4040E
(] .@ @’ 3198 0.084 4030E-L
Q 3199 [57/39 $6.3| 35 |20/13 0.084 4030E-R
Q F] 3200 0.067 4030€
< - i 3114 0058 | 404seL
i We§2t57-"g’ C°"“’Z‘(')::"LV moxle 311569 425 0.098 4045E-R
' ' - 3117 0.074 4045E
635 0,057 30 R bt $8.3 i S

6/4.5 0.057 3040M-L —— :
TR SR 3112 (75 45 0.107 4545E-R
6/55/ 0057 40M-R 3201 ' 0.093 4530E-L
3213 74.5 42|@7 43.5[25|7|55|  0.071 4045M-L 3202 163 37.5 10 0.093 4530E-R
3214 | 74.5 42|@7/43.5(25/7[5.5]  0.071 4045M-R 3203 g| 0075 4530
3215|74.5 42|@7 46 |25|7|5.5 0.071 45M-L 3204 0.099 4540E-L
3216|74.5 42/@7 46 |25|75.5 0.071 45M-R 3205 |69 425 0.099 4540E-R
3217|74.5 42|@7 51 |25(7/5.5| 0.071 50M-L 3206| | 0.078 4540F

_328[7a5]a2]@7 51 [25[755] 007 50M-R




Deadbolt Latch

I

MEXFRAME

S

Aluminum Door Handles

P T
B
N N\t
E : \
Thry
A C
B
B
Model | A |B|C| D |E|F [G H | J |Weight (kg)| Compatibility code
3118 |15.9|51(38|12.9/6.3/14/25|6.3/4.5 0.07 40A
- 3119]15.9|51|38|12.9|6.3|14 2563 /4.5 0.07 408
Plastic Door Handles

g [Eib

Accesories For Doors

| Model |A| B | C Weight (kg)| Compatibility code
3009| 90| 20 |@6.5/109] 0.027 90
3010|120] 25 |@8.5/140| 0.0425 120

3011/180] 285 |@8.5/200]  0.079 180

Model

A

B

C |Weight (kg)| Compatibility code

3021

90

19.5

?6.5 0.047 90

3022

120

25.5

?8.5 0.083 120

3023

180

28.5

?8.5 0.157 180

Nylon Magnetic Catch

A

G

D

]

e

E

Model A |B

C

D

E |F| G |H | I|J Weight (kg)| Compatibility code

28.2

3170

40

R3.1

131

18.4|10|20.2|8.9|6.4 0.033 A

Acessories

Series |QTY

Description

5148 & 5135

30

2

M6*16 SHCS Econ T-nut

5109 & 5141

40

2

M6*20 SHCS Econ T-nut

*25 and 40 series compatiible
*Made of molded black fiberglass-reinforced nylon

*Quick latching method for lightweight plastic panel doors




Steel Magnetic Catch

MEXFRAME

Deuble Ball Catch

Model |[A| B [clp| E

FIG|H

L | Weight (kg)

Compatibility code |

3173 40| 47.5 |R3/2(37.3

adjusted distance.

15

?4.5

*25 and 40 series compatiible
*Steel plate punching molding
*There is a strong adsorption capacity and can be freely

30| 0.052

A |

*25 and 40 series compatiible
*Body of latch of made molded black fiberglass reinforced nylon
*Quick latching method for lightweight plastic panel doors
*Zinc-plated steel ball can latch into top of or front of catch

[
o
G
T Nylon Ball Gatch
(/] G
] A =
[
& = | i
o 2
S E—
@
4 (1T
o !
O £
g =
| Model | A [ B[ c | D[E[F] G [H]I]J [weight (kg)| Compatibility code |
_3171|28.2|43.3 |R2.6/12.8/33|10(20.4 13/29|M8|  0.023 A
[ Acessories SeriesEQTY Description
5148 & 5135 | 30 | 2 | M6 * 16mm SHCS & Econ T-nuts
5109 &5141 | 40 | 2 M6 * 20mm SHCS & Econ T-nuts

i

[ Model | A |B| C | D |E| F | G |H| | |Weight (kg)| Compatibility code
_=3172|74.2|57|14.8|22.5|37/29.3/47.4|17|15.4 0.039 B
Acessories Series I Qry Description \
5148 & 5135 | 40 2 | M6 * 16mm SHCS & Econ T-nuts |
~ 5109&5141 | 45 | 2 | M6 * 20mm SHCS & Econ T-nuts |

*Fiberglass -reinforced nylon, black
*Stainless steel ball

Copper Ball Catch

i

*Stainless steel ball

v /L’
T — .
] { )
¢ []

| Model (Al B | c | D | E| F| G |Weight (kg)| Compatibility code |

3145(34| 43 | ¢4 | 8 | 16 |23.7|@3.5| 0.014 20A '

314639 50 | @4 |10.4| 20 | 28 |@35| 0.021 30A

3147 |46/ 59.8 |$4.610.4|23.5(33.3| @4 | 0.03 40A
__3148|54/68.3|04.6/12.2| 26 | 37 | @4 | 0.049 45A

*Copper CNC processing




MEXFRAME

2
o
0
a
s
(1 8
N
0
T
0
@
0
g

Steel Magnetic Catch Aluminum Base Plate
[/
288 [ e
B| E | S NI |
| c
A
Model |A|B| C D|E|F|Weight (kg)| Compatibility code of [ 1T
3174|61|49|@5.5(16(35/20|  0.048 30A B
317571/49|@5.5/16/35/20|  0.05 40A |
3176 |81/49/@5.5/16/35 |20 0.051 45A | | Model A[B|[C|D| E | F |Weight (kg)| Compatibility code |
S e 7001 | 60 |30(30/12| M8 | @9 |  0.045
~304 stainless steel material 7001-2 | 60 |30/30/12|M10| @9 |  0.044 3060A
Suitable for all profiles to use 7001-3 | 60 |30(30/12|M12| @9 0.043
7002 | 80 |40(40/12| M8 | @9 |  0.091
7002-2 | 80 |40/40/12|M12| @9 |  0.09 4080A m
7002-3 | 80 |40|40/12|M16| @9 |  0.089
7003 | 90 |45|45/19|M12|@#13|  0.173
7003-2 | 90 |45/45/19| M16|@13|  0.172 4590A
7003-3 | 90 |45|45/19| M20|@13|  0.171
7033 |100|50/50/19/M16|@13|  0.25
7033-2 |100/50(50 19| M20 |@#13|  0.25 50100A
7033-3 100|50/50/19|M24|@13|  0.25
Acessories |QTY Description
5111 | 2 | M8* 25mm SHCS
5111 | 2 | M8* 25mm SHCS
5113 | 2 | M12 * 30mm SHCS
5113 | 2 | M12* 30mm SHCS




E Aluminum Base Plate linc Base Plate
MEXFRAME ‘ ; 2 1; }
'y
b
) A
o
’ Model A|[B|C| D | E |Weight (kg)| Compatibility code D ILH:L}” 5 :L[éil]
- 7004 | 60 [30{12| M8 | @9 |  0.097 Yo
T ju0é-2 | 60 130,12 |M12 05 | 0036 oE0A . Model | A B|lc|D| E | F G wWeight (kg)| Compatibility code
(-] yo0a-3 | 60 136112/ M16| 189 | 0.095 7025 | 60 30/30/13 M8 | @9 8 @ 0.089
2 7005 | 80 |40/12/M12| #9 |  0.187 7025-2 | 60 30(30/13/M10/ @9 8 @ 0.088 | 30608
2. 0052 | B0 4012 MIG| 09 | 0.5 REBNA 70253 60 30[30[13(M12[ @9 8 | 0087 | |
a 7005-3 | 80 |40/12|M20| @9 0.183 }-7027 | 80 40/40|13|M10| @9 8  0.168 | m
-7006 | 90 |45|19/M12|@13| 0.354 7027-2 | 80 40/40/13|M12| @9 8 @ 0.166 40808
o3 7006-2 | 90 |45/19|M16|@13|  0.351 9090A 7027-3 | 80 40|40[13|M16| @9 8 | 0164 |
7 7006-3 | 90 [45/19|M20|@13|  0.348 17029 | 90 45/45/18|M12|@13 10 0313 |
A 4 1-7007 |100|50|/19|M16|@13 0.42 7029-2 | 90 45/45/18|M16|@13 10| 0311 45908
8 7007-2 |100{50/19|M20|@13| 0.416 100100A ___7029-3| 90 |45|45/18/M20|@13 10| 0.309
"N 7007-3 |100|50|/19|M24 |@13|  0.412
| Acessories | QTY Description | Acessories |QTY Description
5111 | 4 | M8 * 25mm SHCS 5111 | 2 | M8 * 25mm SHCS
5111 | 4 | M8 * 25mm SHCS 5111 | 2 | M8 * 25mm SHCS
5113 | 4 | M12 * 30mm SHCS 5113 | 2 | M12 * 30mm SHCS
5113 | 4 | M12 * 30mm SHCS




Linc Base Plate

lmc Base Plate

MEXFRAME

\

[ Model F| Weight (kg)| Compatibility code

1-7030 |60(30/13|M10| @9 |8 0.174

7030-2 |60(30{13|M12| @9 |8 0.17 60608 Model |A|B| C| D |E|Weight (kg)| Compatibility code

7030-3 160/30|13|M16| @9 18|  0.166 7024{30|15/M8 @53 /8|  0.049 308
(7} 17031 |8040/13|M12|@13|8|  0.327 e ———— ' o
t 7031-2 |80(40/13| M16|@13|8 0.323 80808 yAce;sgriAgsﬁ QTy Qgggription
° ~ 7031-3 |80]40/13|M20 @138 0.319 .5230 4 | M5 * 20mm SHCS
& {Acessories QTY\ Description
= 5111 | 4 | M8 * 25mm SHCS
m 5111 | 4 | M8 * 25mm SHCS
o} Linc Base Plate Al Linc Base Plate
3 A
0 c

/
e oy %
L. . B O
. v DL E " 2:' E:! M ! \k P
Model |A|B| C | D | E [Weight (kg)| Compatibility code : — :
7026 |40|15! M8 ¢63 8 0.09 40B v Model |A|B| C |D E | F WEIght (kg) Compatlblllty code ‘
7028 |45/15M12|@6.3|10| 0.1 45B _7032[80|47|425|8 M12/63¢| 01 | 47808

Acessories | QTY Description Acessories |QTY Description
5230 | 4 | M5 * 20mm SHCS _ 5109 | 2 | M6 * 20mm SHCS |
5232 | 4 | M6 * 25mm SHCS |




Large Base Glides [stems swivel
15 deg in alldirections)

~
-

15 dey in alldirections)

— Profile

L ®

M Large Base Glides (stems swivel

)

MEXFRAME ¢ (

@000 @nnni

ON

’ Model | A | B | c D] E |weight(ke)

" Model | A | B | C|D| E | Weight(kg) 7048 M8 |50 |28| 14 | 0.126

) = 7034 M8 |30(20| 14 | 0.072 7049 | M8 | 80 |28| 14 | 0.134

s 7035 | M8 [50|20] 14 | 0.078 7050 M8 |100/28| 14 | 0.141

8 7036 MG 0 30] 17 | 0i08 7051 | M10| 80 [28| 17 | 0.154
A 7057 s0n [m10]s0 20 17| 004 102 oy (MI020028 17 | o01c2 | EYA

o8 JORR| L% P2 83 | LH05 7054|  |M12]80 28] 19 | 0.73

8 e R S B0 L LD 7055 M12[100[28] 19 | 0.2

9 7040 M12/100/20| 19 | 0.142 7056 s o5 (e | od | e

= o4l WS s da] 2% | D073 7057 M16(100[28| 24 | 0.262

7042 | M8 |8024] 14 | 0.101 7058 | M12| 80 |30] 19 | 0.163

7043 | M10]50 24| 17 | 0.105 7059 | M12(100/30| 19 | 0.276

7044 | 60A |[M10| 80 24| 17 0.119 7060 M16| 80 [30| 24 0.322

7045 | M12|50(24| 19 | 0.12 7061 | M16(100/30| 24 | 0.348

7046 M12|80 (24| 19 | 0.139 7062 | 100A|M20] 80 [30] 30 | 0.404

7047 M12/100/24| 19 | 0.156 7063 M20/100/30| 30 | 0.447

7064 | M20[120[30| 30 | 0.496

7065 | M24100/30(35.5| 0.64

7066 M24[120/30(35.5| 0.668




i

MEXRIAME

Large Base Glides [stems swivel .

15 dey in alldirections)

large Base Glides

0
t
o
a
o
3
7
o3
8
0
i

1

o
\0IGD0I @ on060D,
| 5> §

N

10.8

®
= (©)
©

A B

(@)

A B | C|D| E |Weight(kg)
M8 | 50 |17] 14 0.107
M8 | 80 |17| 14 0.115
M8 |100|17| 14 0.121
M10| 80 (17| 17 0.134

308 M10|100/17| 17 0.143
M12| 50 |17| 19 0.133
M12| 80 |17| 19 0.155
M12|100|17| 19 0.171
M16| 80 |17| 24 0.214
M16|100|17| 24 0.241
M12| 80 (20| 19 0.238
M12|100|20| 19 0.25
M16| 80 [20| 24 0.295
M16/100|20| 24 0.322

1008 M20|100/20| 30 0.42
M20{120{20| 30 0.462
M24|100|20|35.5 0.552
M24{120(20|35.5| 0.609

Model A B C |D| E | Weight(kg)
7085 M8 | 30 14 0.075
7086 M8 | 50 14 0.081
7108 M8 | 80 14 0.1
7087 M10| 50 17 0.096
7088 — M10| 80 - 17 0.109
7089 m12[50| |19 | 0111
7090 M12| 80 19 0.132 m
7091 M12|100 19 0.196
7092 M8 | 50 14 0.094
7093 M8 | 80 14 | 0.103
7094 M10| 50 17 0.111
7095 eoc M10| 80 = 17 0.122
7096 M12| 50 19 0.125
7097 M12| 80 19 0.142
7098 M12| 80 19 0.191
7099 80C M12 (100 19 0.206
7100 ‘M16| 80 24 0.252
7101 M16|100 24 0.275
7102 M16| 80 22 24 0.285
7103 M16|100 24 0.311
7104 100C M20|100 30 0.422
7105 M20 (120 30 0.464
7106 M24|100 355 0.545
7107 M24 120 35.5 0.612




@ Treaded Stem Swivel Gasters 1 [ = ] Treaded Stem Swivel Casters
=| bracket
*20,30,40 and 45 series compatiible. = *20,30,40 and 45 series compatiible.
MEXFRAME  *Mounts directly to profile ends (with *Mounts directly to profile ends (with
end tap) or to mounted base plate. end tap) or to mounted base plate.
*Maximum load capacity ranges from A *Maximum load capacity ranges from
*7181-1 black bracket, 7181-2 silver > *7186-1 black bracket, 7186-2 silver
bracket \ bracket '
Model A |B| C D |Braek| Max Load(kg) | Weight(kg) -
7178 65.5 |15| M8 | @50 | No 50 0.146 Model | A |B| C | D |Braek| Max Load(kg) | Weight(kg)
[ 7180 | 117 |31|M12|@100| No 100 0.485 71861 74 |25 M8 | 50| Yes i 0.300
2 7181-2| 74 |25| M8 | @50 | No 50 0.216
g -7182 | 105 |30|M12| @75 | No 50 0.546 m
oJ Treaded Stem Swivel Gasters s Flange Mount Casters
(/] = 8 X
b = *20,30,40 and 45 series compatiible.
8 *20,30,40 and 45 series compatiible. *Choose from rigid or swivel casters.
Tl *Mounts directly to profile ends (with Pl | *Side brake(pic.tured) locks wheel only.
end tap) or to mounted base plate. A . *Fr(?nt brakt.e(plctured) locks wheel and
*Maximum load capacity ranges from b SW'V?l motion. .
50-100 kg. *Maximum load capacity ranges from
IRt ] 95-125kg. D
JO &
\ Model | A |[B| C D |Braek| Max Load(kg) | Weight(kg) ]‘4
7183 | 67 (15| M8 | @50 | Yes 50 0.16 O G
7184 | 95 |31|M12| @75 | Yes 15 0.345 A
7185 |116.5(31 M12 |@100| Yes 100 0.498
[ Model | A |B|C| D | E | F | G |Braek| Max Load(kg) | Weight(kg)
7188 70 BO 8.5/ 55 | 35 | 69 |@50, No 95 0.232




MEXFRAME

Flange Mount Casters

*20,30,40 and 45 series compatiible.
v*Choose from rigid or swivel casters.

*Side brake(pictured) locks wheel only.

*Front brake(pictured) locks wheel and

Flange Mount Casters

*20,30,40 and 45 series compatiible.
*Choose from rigid or swivel casters.
*Side brake(pictured) locks wheel only.

) *Front brake(pictured) locks wheel and
swivel motion. swivel motion.
*Maximum load capacity ranges from L *Maximum load capacity ranges from
95-125 kg. ] 95-125 kg. A
e]:é $ % [ Phe——— |
ik < O
o —C s 1 (O )|
A
0 © O
E Model Braek | Max Load(kg) | Weight(kg) Model | A |B|C|D|E| F | G |Braek| MaxLoad(kg) | Weight(kg)
P9 7189]70/50]8.5/52]35/70.5/@#50] No 0.174 7192 | 81 |67/8.5/60]45| 95 | @75 | Yes 110 0.474
- B 7193 |100{82|8.5/80/60|125 @100| Yes 125 0.852
= S
/]
oJ Flange Mount Casters Flange Mount Casters
) %20,30,40 and 45 series compatiible. X *20,30,40 and 45 series compatiible.
” e :
's *Choose from rigid or swivel casters. *C_hoose from rigid or swivel casters.
o *side brake(pictured) locks wheel only. . v *Slde brake(plc'tured) locks wheel only.
(18 *Front brake(pictured) locks wheel and Frqnt brak(_e(pmtured) locks wheel and
swivel motion. g *i;vw.el motllon(.i ty f
*Maximum load capacity ranges from R e | e i e
o l—"jb a5 O
BJ B B
B
O S
& S A
Model | A |B| C|D|E| F | G |Braek| Max Load(kg) | Weight(kg) [ | Model | A |B|C|D|E| F | G |Braek| Max Load(kg) | Weight(kg)
7190 | 80 |66/8.5(60(45| 91 | @75 | No 0.355 7194 | 70 |50/8.5/52|35| 69 |@50| Yes 95
7191]100(82]8.5/80/60|125| @100 No 0.698 | 7195]93.6 |65/8.5/72|45|103|@75] Yes 110




Steel Floor Bracket Floor Meunt Base Plate

. —_—p
MEXFRAME % [EI
=Tl S~

\7‘ >

[ dvi:\.'%
|
A ]

Model | A/B C | D E | F | G |Weightlkg) | Compatibility code i
0 7142 |185/40 $10.8|@8.8 28.8/120°|150°| 0355 40A-L  Model ([A|B|C[D|E FIG| H | Weight(kg) | Compatibility code
 ofl] _7143185/40 $10.8|¢8.8 28.8/120°[150°| 0.355 40A-R | [/200/ 60 |60 | @8 |21/Ra2541201 80| 023 20
'o- : ' = 721365 | 65 | @8 |26 R3254125/80 | 0.28 25A
a Acessories | QY| —Desaription 7202/ 80|80 @10/31 R4 4/30/80] 036 30A
oy REGRI07 | 2 | ‘Brenn Z'S‘“‘:S&:'a":e Nt 7204 100|100/ @14 /41 RS 4/40/115| 0.63 40A
= poee || & W AT fe, 7206 /105|105 @14]46 RS 4145115 0.7 45A
(7] 7215 115/115/@14/51 RS 4/50/115| 0.82 S0A m
0 Aluminum Floer Bracket S Floor Mount Base Plate
- / ;
1 4
|
e BRI
AT
| o ~
1 : 7
Model | A [B|C|DIE[FIG[H|I]| 3 | K |L|M|Weightkg) | Compatibility code
7135|140/8040| - |6 56;20; - 130/#63 P105 2515 0.085 308 ] = ST
7137 140/80/40 30 /6/5620/30 60 96.3| #105 2515 0.18 30608 Model | A B | C|D|EJ G!H || Weight(kg) | Compatibilty code
| 7136/140/80 40| - 6/56 20 - |40/@8.3 $135 2820 0.125 408 7201|80 100 @8 | 41 R3254/20120/80| 038 2040A
~ 7138[140/80/40/40/6/56 20/40/80 ¢8.3|$13.5/28120 0.235 40808 721495 120 @8 51 R3254/25/25/80 | 0.53 2550A
T [ B e  7203/110/140 @10 61 R4 |4/30130/80 | 0.69 3060A
5099 & 5139 & 5268 |2&1&1| BHSCS & Econ T-nuts & Wedge Floor Anchor ~ 7205|140/180 @14 81 RS |4/4040/115| 12 4080A
15099 & 5139 & 5268 |482&1| BHSCS & Econ T-nuts & Wedge Floor Anchor 7207 155 200 @14| 91 = RS !4/45 45/115 1.4 4590A
5102 & 5144 & 5269 2&1&1| BHSCS & Econ T-nuts & Wedge Floor Anchor | i 1
510285148 & 5269 |482&1| BHSCS & Econ T-nuts & Wedge Floor Anchor 72081701220 $14/101 RS |4/50/50|115| 1.65 50100A




Floor Mount Base Plate

MEXFRAME

Model | A| B | C | D |E|F| G | H| | | Weight(kg) | Compatibility code
7209 |135/135|@14 | 61 |R5/4| 60 |30/115 1.02 6060A
7210 |175|175|@14| 81 |R5/4| 80 140|115 1.6 8080A
7211 (195|195 /14| 91 |R5/4| 90 /145|115 1.85 9090A

7212215|215|@14 /101 |R5/4/100 50|115 2.2 100100A

0
t
o
-
a
3
@
od
8
3
i




Mesh Panel Economy Fastener Mesh Panel Economy Fastener

4
D B g 3

sy Bl &
MEXFRAME . N Y - e
j// C : . @ ' Ji’ ! o Do ;’ D _\ [_‘
; o 0

§ @ L 2| L

Model |A| B | C | D | E | F | Weight(kg) | Compatibility code
- 7196 (18| 10.5 |#5.8| 5.8 4.5 0.013 20A : =
() 7197120 16 |@7.8/7.8] |45 0016 30A Model (A| B | C | D | Weight(kg) | Compatibility code
8|78/ |4 ;
5 7198 21| 16 |@¢7.8/7.8| |54 0.014 40A 7216 |120|5.2 /M5(24| 0.016 ——
il 7199 (23| 19 |(@9.8/9.8 5.4 0.033 45A
(1] ——i .
TN Single Panel Retainers - Double Panel Retainers
3 E a E L
oy A “ . e B
= 3 % Y :
“ K K c @ © (¢
o q & . q :
N y A . h o
‘ Y L ) : : b el & G &
m D) .. <> \‘\ C'} !". a K L
0 %k J ¢ ﬁ A X ©
J/ g (4 ¢
= ~= 1l
Model [A] 8 |C[D[E| F |G| H | Q [J]| K [L|M| N | Weight(kg) | Compatibiity code 20,30,40 and 45 series compatible.
71453/102120119.20 10 |- | - |72 |-| 10 20 M5/@56 001 20 Made of 6061-t5 clear anodized aluminum, strongest way to
71493/10.2(20(19] - | - 40| 10 | 7.2 |20 10 |20, M5 @#5.6| 0.015 208 . : ;
71464 1463028130 15 | -| - [106| - | 15 ol gs3| oo | soa | oSt Sfigively redin o Jreru e
71504/ 14.6 30(28] - | - |60/ 15 110,630, 15 130/M6 @#8.3| 0.042 308 two plas_tlc panels separated by a profile, simplifies panel
7147 6| 22 [a0/3740 20 |- | - | 16 |- | 20 la0/m8|g83| 0056 4 || installation and removal.
7151 06| 22 [40[37] - | - 80/ 20 | 16 |40| 20 |40/m8 @83 0.2 408 T o
71486/ 233 [45/42(a5/ 225 | - | - |173] - |225 a5/ M8 #8.3| 008 asA Mdel il 821G EDIIE | SkGARNIIE QU IR 91 )M I N Welghsig) | Compatiiity code
7152 161233 [as/a2] - | - |90/ 22.5[17.3145[22.5 las|msig83| 015 asg [15315110.21201 20.6120 10 |- - 172 1-] 10 1205 |M51855 002 20C
— 715713102120/ 206| - | - [40] 10 | 7.2 [20] 10 |20.3|M5/@5.5 0.022 200
. . 7154 414630306 30| 15 |- | - |106) - | 15 |30.3|M6/@83| 0.034 30¢
20,30,40 and 45 series compatlble. . 7158 4] 146 30(306 | - | - |60 15 |10.6,30| 15 |30.3 |M6/@83| 0.07 300
Made of 6061-t5 clear anodized aluminum, strongest method 715516 22 140406140 20 | - | - | 16 |- | 20 |40.3 M8 @83 0. a0C
for mounting panels. 7159 |6, 22 |40/406 - | - |80| 20 | 16 |40 20 |40.3 |M8|@83| 0.9 400
S|mp||f|es panel installation and removal. 7156 |6 23.3 45|45.6 145/225| - | - |17.3|-/22.5|453|M8!@8.3| 0.12 45C
71606/ 233 145/456 - | - |90|22.5|17.3]45/22.5 453 | M8 0.24 45D




MEXFRAME

Mesh Panel Fastener

M

20,30,40 and 45 series compatible.
Made of 6061 -t5 clear anodized aluminum,

simplifies panel installation and removal.

Panel is secured when tightened between

retainer and Threaded backing plate.

s strongest method for mounting wire mesh,

v
LE_ e 97
R 1 L F N
! ) W 6] O M
Ea

o| | ‘Cell O &

[ model Al B [ciple] F [&] H | 1 [J] kK | L [M N| R |Weight(kg) | Compatibility code
7161(3/10.2|20/19(20) 10 |- - | 7.2 |- 85 22 |18{M5/@55 0.1 20€
7165|3/10.2|20/119) - | - |40 10 | 7.2 |20 85 | 22 [18/M5/@55  0.021 20F
7162 |4|14.6|30/28/30 15 |- - |10.6 - 13 325 28/M6/@6.5  0.029 30E
7166|4146 3028/ - | - |60, 15 10630 13 |325 28|M6/@65 0.057 30F
7163|6| 22 |40/37(40, 20 |- - | 16 | - 15644.6/38|M8 @83  0.078 40E
7167|6) 22 40137\ - | - (80 20 | 16 |40 15.6 44.6/38/M8|@83  0.16 40F
7164 |6/233|45/42/45/225| - | - |173|-| 20 | 48542/ M8 /@83 0.1 (45E
7168 (6/23.3145:42| - | - [90/22.5/17.3 45 20 |48.5:42/M8 @83 0.2 45F

- e e

20,30,40 and 45 series compatible.

Made of 6061 -t5 clear anodized aluminum.
~vanel is secured when tightened between

retainer and Threaded backing plate.

Strongest way to cost-effectively retain two

wire mesh or expanded metal panels separated

NS . by a profile.
: . Simplifies panel installation and removal.
B 4 G
o g ]
) A a
gL O/ [] [J A A [
N R B!
o O
D & o 6
K
W |0 0 B
[ Model [Al 8 [cl o [E] F 6] H | 1 [4] k] L [M N[ R |[weight(ke) | Compatibility code
7169 3 10.2/20 20620, 10 |- - | 7.2 |- 85 | 22 |18|M5/@55 0018 | 206
71733 10.2120/206 -| - 40 10 | 7.2 |20 8.5 | 22 [18/M5/@55 0.036 20H
7170 4 14.6 30306 30, 15 |- - 106 - 13 |32.528)M6 @65 0.051 306
7174 4 146/30/306 - | - |60 15 10630 13 |32.5|28/M6 @6.5| 0.098 30H
7171 6 22 |40 406 40| 20 - - 16 | - | 15.6 | 44.6 138 M8/(38.3 0.14 406G
71756 22 |40 40.6 - 180/ 20 | 16 |40/15.6 | 44.6 38|M8[@8.3 0.8 40H
7172 6 23.3 45 456 45/225 - - 1173 - | 20 485 |48!M8!(@8.3 0.173 45G
7176 6 233145 456 - | - 90 225 17.3 |45/ 20 ?8.3 0.35 45H




[ e
Accessories Aluminum Angles

Mexico USA
@ Julimes 6002 Col: Nuevo Hipédromo Q 6930 Market, Suite E El Paso, TX 79915 US
C.P 32685 cd Juarez, Chihuahua Sergio Nava snava@borderstatestech.com
sales@viratechnologies.net . Tel- Oficina 01 915 613 4191 Ea4 B
. Tel. Oficina+52 (656) 664 7180 EXT: 107  Celular (656) 418 0730

. Celular (656) 185 5192 L




: Direccion: {=) E-Mail “ Liamanos:
VIRA ”\S@E = IBCVV\L Julimes #6002 Bl sales@viratechnologies.Net +52[656]418.0730
SEEE NS EESENEEEEEEEEEEEEEEEEEEREREES 5 18 -
ﬂ BN NN RN ENEEEEEEEEEESEEEEEEEEREREEEN 21

15 Series......ooooonnnneeeeeiianiinnannn. 5
LB BOVECR .icovvivinssmntisssessewscasas 6 ,‘/ s mensssmexsexpmyeenssnss S
20 S@FICS....oeeeeeeeeeeeeeeeaaaanannns 6

. (LA A2 2R R 2R 2R RRRRRRRRRRRRRRRERR NN D) 24
B BEEECS. s csiens sy rraas e v 8 '
30 SEries....cccoveveeeeeeeeaeeeaaananns 8 -
40 SCTICS. ..o 11 K sesssensssssssnensassssennannsnens 20

7 BT o 7 14

60 series.........ccoeoeeveeeeeinnannnannnnnn. 16 S | ;
80 SOFIEE .o vsiisvisesssvmpvessanuasssssins 17

Q0 Series.....coooeuueeiiiieaiiiennnnnnnn. 18 s C«— R L LLLL LI TTTTTTrrrrrr T L |
I D0 FOFIES v nssvvspvivisanisisamssasssms 18 " ﬂ/

,/’uuu..u--u-u"u.-uuuuuu 28
T 1 102 B

» @ SIS NS NSNS NE NN NEEEE 28

IS 8 O — 19 v

130 DERIaEL. onounionsristhiasssiinis 19 32 28
90 Degree....... vvenmavanacss 20 H




x
s Direccion: {=) E-Mail ‘. Liémanos:
VIRA ”\5“25 i IBC%\L Julimes #6002 b4 sales@viratechnologies.Net +52[656]418.0730

SES

=

ot
C 2

".“ ‘
)
4 /:'
pr

S SRVERRNEINRT———

T R R
—
S 18 sEsmssssssssssssssssssssnnssssEnnnnnn @

. ¥ 4 \

- :

z"? . |




i ™ [ ] 1515A Inside Corner Bracket
B
:
MEXFRAME i
__ Al [ C
] ]|k )
o ., ....... L |
A T
—‘121‘—
Acessories QTY Description
\ / 5295 2 M4 *6mm BHSCS
'E; Model A B C D Weight (kg) Compatibility code |
: 2 hole Inside Corner Bracket oz ujgsiansial imoey | stk
| ™ s =
8 1525A Inside Corner Bracket [ ,;9?9 1530 Inside Corner Bracket
S | v * ~
= L7 T T B
2} @l w [T |l
a / A})\;//f e
; FRLEUI 0D
- = - / 1530-A 1530-8
Dl
.
Acessories QTY  Description Acessories QTY [iescription
5256 2 M5 *12mm FHSCS ZJD-5108 2 M6 * 20mm SHCS
Model A B C D Weight (kg) Compatibility code | Model A B C D Weight (kg) Compatibility code
1081 2515 ©5.1 64  0.01 1525A-6 1176 3015 ®65 5 0023  1530A6

1050 3015 @65 5 0.021 15308-6




4 ™ 4 ™
1850A Inside lﬂll‘!ﬂl Bracket 7 2020A Insidoﬂrnor Bracletr
B
» [~—B— C
MEXFRAME ERNVEN
E \Z) a
A C~HRY \_/
N
NI . J g J =
P\ -1
F A —p—< Acessories QTY  Description

5094 2 MS* 8mm BHSCS
5339 2 Econ T-Nut

Acessories QTY Description

5147 4 M6 * 12mm SHCS | Model A B C | D Weight (kg) Compatibility code
'E; Model A B C D E F Weight (kg) Compatibility code 1001 2017, @6 4 0.0065 2020A-4
] 1023 5018 ®7 16 M4 10  0.026  1850A-16
o 2020E Inside Corner Bracket | N '| 2020F Inside Corner Bracket
g = /
5 ! :
o ) r | g
A
q
L. . » 7 )
‘ A
= 3 | — & ]
7
Acessories QTY Eescription } Acessories QTY  Description
5094 2 MS* 8mm BHSCS 2 5094 2 MS * 8mm BHSCS
5339 2 EconT-Nut X ‘ B8 |3 | EeonTiid

Model A B C D Weight (kg) Compatibility code
10331818 5 5 0.007 2020E-5

Model A B C D Weight (kg) Compatibility code
1150 2020 53 5  0.0059 2020F-5(AL)
1151120120 53 | 5 | 0.015 2020F-5(zn)




MEXFRAME &

o
a
-
(%]
s
(-]
| =
Q
| =
|
Q
(&

2028A Inside Corner Bracket

..............

Acessories QTY  Description
5094 2 M5 * 8mm BHSCS
5339 | 2 Econ T-Nut

Model A B C D Weight (kg) Compatibility code
1024 2820 63 6  0.013 2028A-6

2028B Inside Corner Bracket

N
% = ]

T

>
£ e

K
T
S 17 ] u i@
A
= |
I O U
Acessories QTY  Description

5094 2 M5 * 8mm BHSCS
5339 | 2 Econ T-Nut

Model A B C D Weight (kg) Compatibility code
1002 2820 6 4 0.135 2028B-4

T

2028¢ Inside Corner Bracket f

B

______ i

=== a7
., or P

-—t

TOTwE=

R

Acessories QTY  Description I
5094 2 M5 * 8mm BHSCS |
5339 2 Econ T-Nut

Model A B C D Weight (kg) Compatibility code

1040 2820 65 8  0.013 2028C-8

o

\

'] 2040A Inside Corner Bracket

w

C—~

c=|

>
B N e
. -+
—g.l___-—g-l-
L L
L} 1

L
S
T
~
'
Ladab-o
:]‘{‘J
(-
L

A ]
—
~lp
Acessories QTY ~ Description

5160 4 M4 * 8mm BHSCS
5338 4  EconT-Nut

Model A B C D Weight (kg) Compatibility code

1025 3818 45 5 0.016

2040A-5




M

MEXERAME

2530A Inside Corner Bracket

\o

%

Y e |

L S [ S Gy ¢ P

<

)_

@}

~

o

Acessories QTY  Description |
5098 2 M6 * 10mm BHSCS |
5341 2 Econ T-Nut

1049 3025 7 5.7 0.016

Model A B C D Weight (kg) Compatibility code |
2530A-6

B

o)
Q
-
(8
O
(2]
b
@
| =
b
Q
o

= 4
3030A Inside Corner Bracket
- 2 a

Model A B

2540A Inside Corner ll‘lﬁlﬂl

Ly
el

- w00 40 o> By

Acessories QTY

Description
5098 2 M6 * 10mm BHSCS

5341 2 Econ T-Nut

| C D Weight (kg) Compatibility code
1051 4025 9 8

0.027 2540A-8

-
LIS

| 15

T
i3 tlgaiecy; fiu oot
A |

I

5

el s ity ey

=0 BT B f .
| &) | =)

f |

'| 30308 Inside € Brackel

A -
1D

Acessories QTY Description
5022 2 M6* 16mm Drop-in T Studs |
5076 2 Flange Nuts \

Model A B C D Weight (kg) Compatibility code
1003 3528 65 6 0.026 3030A-6
1026 3528 65 8 0.026 3030A-8

B
=
i | &
l‘
ER
A i ! ﬂ
/ C:: L""f"‘l"
U 8 i s i
i s} 8}
A
D
pcessories Q1Y Descrph
5022 2 M6* 16mm Drop-in T Studs
5076 2 Flange Nuts
Model A |B| C | D [Weight (kg)| Compatibility code
1004| 30 |25|/65| 6 0.018 30308-6




~ ™
3030E Inside Corner Bracket J030F Inside Corner Bracket
MEXFRAME : B 8 =
P 0
¢ A
f Y4 i i O 1
\ - ]
~“‘\\\\V-3\S : : 9] 18]
\s P T ‘ A |
- = ol
D]
Acessories | QTY Description
99 | 2 M6 * 16mm BHSCS
Acessories QTY Description 2243 2 Flan:e": it
5229 2 M6 * 12mm Drop-In T Studs : —
5022 2 M6 * 16mm Drop-in T Studs [re——— 3A0 :0 6c3 2 we’oﬁ:tw“‘ﬂ “':g;g?:?mc;’de
5076 2 Flange Nuts ks - : -
- x [ 30 |30]6.3)] 6 0.018 3030F-6{Zn)
Model | A |B| C | D |Weight (kg)| Compatibility code ! \
1034| 27 |28|64| 6 0.02 3030 -6 — 2 B LR 013 o
1037| 27 |28|64| 8 | 0022 3030E -8 : 30 1301631 8 0.019 3030F-8(zn}

o

~

"
7
"\

3040A Inside Corner Bracket e d043A Inside Corner Brackel

o)
Q
-
(8
O
(2]
b
@
| =
b
Q
&

-
| \ : , tadal
1 é Sl o S S AR

|
I E __‘.t-\..l .J“l"‘-{"-"‘f
A A o | B.. 2R y - p 3 — g RS
F D I A ' thbharep bt
: [
Acessories | QTY Description
5026 | 2 | M8 * 20mm Drop-In T-Studs
5077 | 2 | Flange Nuts [Aoessories Qry Description
VI 0 £ B B [ T 5103 | 2 M8 * 18mm BHSCS
Model eg!!s ‘B, pa C
1008] 38 [30]85] 8 | 35 |45] 0.0275 3040A.8 5055 | 2 Econ T-Nuts

Model | A |B]JC| D E | F |G [Weight (ka}] Compatibility code
-1032| 43 J30]8.3]10.3] 12 |12 M5 0.053 3043A-10




MEXFRAME

o)
Q
-
(8
O
(2]
b
@
| =
b
Q
&

2 «
3060A Inside Corner Bracket

B

Ll

B Tt s

g S i s

4]
- ‘
A W H N

\n \"’

D

Acessories | QTY Description
5022 | 4 | M6 * 16mm Drop-In T-Studs
5076 | 4 Flange Nuts

| model | A IB]l c] o | E [weight (kg)] Compatibility code
1005 | 58 [30]85] 6 | 35| 0.047 3060A-6
1027 58 [308.5] 8 | 35] 0.046 3060A-8

<
30608 Inside Corner Bracket

i B
| -~
| .
Al %
t | S
\F-nﬂn';)----"’ @/
A
|| E
| 2l
E] (: Acessories | QTY Description
; 5022 | 4 | M6 * 16mm Drop-In T-Studs
5076 | 4 Flange Nuts
Model | A |[B]C| D E | F |Weight (kg)| Compatibility code
1006| 60 [27|6.5] 6 | S 0.044 30608-6




-
3060C Inside Corner Bracket J060E Inside Corner Bracket
—b B
MEXFRAME = ; c
L -Aee"/
—_— ‘| ("
Y= 4 S
C  I—— W
& - e . [
o=} M
T
e L Acessories |QTY Description
5022 | 4 | M6 * 16mm Drop-In T-Studs P
5237 | 4 | M6 * 16mm Drop-In T-Studs
5076 | 4 Flange Nuts 5076 | & Flange Nuts
B *
b~ [Model | A [B] C[ D [ E [Weight Compatibility code 5300/ 4 MERLS DHICS
Q L4 5139 | 2 Econ T-Nuts
i~ 1007 | 58 |28]65| 6 | 5 0.061 3060C-6
2 1028 58 |28/65] 8 | 5 0.061 3060C-8A [ Model | A [B] c| D [ E [weight (kg)| Compatibility code
E 1029| 58 [28/65] 8 | 5 0.061 3060C-88 1055[57.6]28] 7| 8 | 6 0.064 3060E-6/8
(- a]
s g’
" D &
= 3060F Inside Corner Bracket 4040A Inside Corner Bracket
Q B
&) P B
¢
Al g A T A
[ B T b & s
1=} L~ || ||
o |2} ) A
e Dl
| Acessories |QTY Description
5099 | 4 M6*12 BHSCS Acessories |QTY Description
5202 | 4 Roll-In T-Nuts 5026 | 2 | M8 * 20mm Drop-In T-Studs
5022 | 4 | M6 * 16mm Drop-In T-Studs 5077 | 2 Flange Nuts
1 2 Econ T-N
5P con T-Nuts Model | A [B] C | D [Weight (k)| Compatibility code
Model | A |B| C Weight (kg)| Compatibility code 1009 | 40 [35/85| 8 0.033 4040A-8

1156 | 30 |60]6.3
1157 [ 30 [60]6.3
1158 | 30 [60)6.3
1159 | 30 [60]6.3

0.049 3060F-6(Al)
0.049 3060F-6(Zn) 1

0.050 3060F-8(Al)
0.050 3060F-8(Zn) — ,

@[ |O




4 ™~ 4 N
ﬁ 40408 Inside Corner Bracket / 4040C Inside Corner Bracket
MEXFRAME | B B
—_— = | &5
ais 9 - -
‘:’-: I _/C : _: | €
A -'r-il § A IF : | | | /
— H 1T L 45|
V! |
! ¢ WA / b :
:"‘ ghasa -l Yl peidat = bepocecnaara B |
:hl}"rl"‘""'{lﬂl ! L ) L J ; et O Ln
A 4 o -
= g i
D |
[ Acessories [QTY Description
5026 | 2 | M8 * 20mm Drop-In T-Studs Acessories | QTY Description
5077 | 2 Flange Nuts 5026 [ 2 | M8* 20mm Drop-In T-Studs
5077 | 2 Flange Nuts
Model | A |B| C| D |Weight (kg)| Compatibility code
'!6 1010 | 40 [35/85| 8 0.036 40408-8 | Model | A [B]c[ D] E Weight (kg)| Compatibility code
&5 1011 | 40 |38{8.5| 8 [4.25 0.045 4040C-8
g
-] = s ™ ~ N a
= 4040E Inside Corner Bracket 4040F Inside Corner Bracket
(= B B
S g e
—— g
o L
|}
{ o @) A
] =
—_—r o
- 1ol it
|o |
’ - — Acessories |QTY Description
Acessories |QTY : Description - 205223 | 2 M8 * 12mm BHSCS
5026 | 2 | M8 Zg:nm Drop-l: -Studs 20D.5345 | 2 Econ T-Nuts
R T 205104 | 2 M8 * 20mm BHSCS
0 i Deop-in T-Stdds 2D-5014 | 2 | M8 * 20mm Drop-In T-Nuts
5018 | 2 Flange nuts
o ( apoaps
[ Model | A [8] c [ D [Weight (kg)| Compatibility code M°fle;0 A |B| C| D |Weight ‘ke) C°";%3::gt(1r)°de
1035| 36 38| 9| 8 0.035 4040E- 8 m 8 0.041 F-8(Zn)
1038 | 36 (38| 9 | 10 0.035 4040E- 10 ——1 40 [40{8.3
1162 o — 4040F-10(Al)
1163 ’ 4040F-10(Zn)




4080A Inside Corner Bracket =N 40808 Inside Corner Bracket
B
B ﬂ": C
MEXFRAME pa) ~ ! Za
b . B ! -
o
=, e AT :
— A :‘ 4 | : A ;JI L. = - C
1 A\ M
i B/ | | L /
l:!..l.l._.J.]__L_L- | H -J_-J:,-.-.:‘J ...... N -{:::?‘
“: A {l‘ - ) N ) A
D E
D[] JlE L[| ¢
E{L
Acessories | QTY Description Acessories | QTY Description
5026 | 4 | M8* 20mm Drop-In T-Studs 5026 | 4 | M8* 20mm Drop-In T-Studs
5077 | 4 Flange Nuts 5077 | 4 Flange Nuts
o=
3 Model | A [B| C| D | E [Weight (kg)| Compatibility code | Model | A [BlC[ D F_|Weight (kg)| Compatibility code
(& ] 1012 | 78 [40({85| 8 | 3.5 0.095 4080A-8 1013) 80 (35 9| 8 3.5 0.087 40808-8
(2] ?
| P , pa ~
8 4080C Inside Corner Bracket 40800 Inside Corner Bracket
- J
o - B N i R
o B N N
T C I \8\
-4 \\\ ' /./ Y
i N _E y N C
4 \
A ;L \\\ v } AR \\
E -@(’ 0 8
c; --L--LL--L-\: - b .-‘\ +
/;G i 4 an : \ ) \ ) \\_I ! X _’k\\
A E _E—B
Oz
Acessories | QTY Description Acessories |QTY Description
5026 | 4 | M8* 20mm Drop-In T-Studs 5030 [ 4 | M8* 20mm Drop-In T-Studs
5077 | 4 Flange Nuts 5018 | 4 [ M8 * 20mm Drop-In T-Nuts
Model | A |B| C| D | E |weight (kg)| Compatibility code Model | A |B| C| D [Weight (kg)| Compatibility code
1014| 80 136] 9 | 8 0.142 4080C-8 1052| 79 |38] 9 | 10 0.12 4080D-10




/7~ ™ ™
4080E Inside Corner Bracket 4080F Inside Corner Bracket
) - Sl
B [D -
MEXFRAME m i
Al
A 1
=
n | > o .—A—lu -
I \ E T / Acessories |QTY Description
. } 5223 | 4 M8*12 BHSCS
Acessories [QTY Description ‘°’/v =<2 5144 | 2 Econ T-Nut
5030 | 4 | M8* 20mm Drop-In T-Studs / 5026 | 4 | M8 * 20mm Drop-In T-Studs
5018 | 4 M8 * 20mm Drop-in T-Nuts Y} 5311 | 4 Drop-In T-Nuts
5027 | 4 | M8 * 25mm Drop-In T-Studs Model | A [B| C| D [Weight (kg)| Compatibility code
5077 | 4 Flange Nuts 1164 . 64 4080F-8(Al)
'!",' . — 1165 ) 4080F-8(2n)
2 | Model [ A [B] c| D [ E |weight (kg)| Compatibility code T1e6| 20 [40]83 2080F-10(AY)
E 1059|79.5|36| 8 | 10 | 8 0.14 4080E-8/10 L o 117 10 0.111 2080F-10(n)
[ &
h =3 r N ' Y -
o 4545A Inside Corner Bracket 4545E Inside Corner Bracket
c | wei= B
5 X S
o =3 7 .
A ==§j Q M [ ¢ )
r \ @g ]
L =ts / Sl
1] A U s —
~—— - - . J & 3
B ~ |D|
10
Acessories | QTY Description [°—‘1 - —
5031 | 2 | M8* 25mm Drop-In T-Studs ¥ 1 D | Acessories | QTY U P
5077 2 Flange Nuts 5030 2 M8 * 20mm Drop-In T-Studs
5027 | 2 | M8 * 25mm Drop-In T-Studs - o 5077 2 . Flange Nuts
5077 | 2 Fiange Nuts Fazi ] =2 T T
Model | A |B| C| D E | F |Weight (kg)| Compatibility code
1030| 42 [42/ 9| 10 | 9 |10| 0.051 4545A-10 Model | A |B| C| D |Weight (kg)| Compatibility code
1015 42 [42] 9| 8 9 |10 0.051 4545B-8 1039 42 42|10 8 0.05 4545E- 8
1036| 42 [42{10| 10 0.052 4545E- 10




. )\ B

MEXFRAME o 5 \ :@/

_m_ - J = J :. A u{ (] y
, e p

‘l

s 3
\n \°

Acessories |QTY Description
5102 | 2 M8 * 16mm BHSCS Acessories |QTY Description
5061 | 2 Econ T-Nut 5031 | 4 | M3 * 25mm Drop-In T-Studs
5102 | 2 M8 * 16mm BHSCS 5077 | 4 Flange Nuts
5311 | 2 Drop-In T-Nuts
2 Model | A [B] C| D |Weight (kg)] Compatibility code
'E; Model | A [B] C| D [Weight (kg)| Compatibility code 1016] 88 j42| 9 | 8 0.156 4590A-8
- 1168 s || wos 4545F-8(Al)
(3] STTC] Y Y : 4545F-8{Zn)
© 1170 o o 3545F-10(Al)
[+ 1n ‘ 4545F-10{Zn
' > :r -
0 & R 4 R
£ 4590E Inside Corner Bracket R 4590F Inside Corner Brackel
o 3 o [\ :
& T V‘ oE,
\ l
\\ J
\ 2l
| | ) r
t ‘ L \\
)¢ 5w ik
| - i il L = —
i T ) i . 4 o [ I
E ;r\\i:;"" H 124.82 Acessories |QTY Description
Acessories | QTY Description NN\ € == /Y s102 | 2 M8 * 16mm BHSCS
5027 | 4 | MB8* 25mm Drop-In T-Studs AN ['X, 5144 | 2 Econ T-Nut
5077 | 4 Flange Nuts Il - f\\\’z | e — 5102 | 2 M8 * 16mm BHSCS
5031 | 4 | M8* 25mm Drop-In T-Studs - cf s——re . 5311 | 2 Drop-In T-Nuts
5077 | 4 Flange Nuts
. Model | A |B| C| D |Weight (k)| Compatibility code
Model | A B c| D | € |weight Ckg)| Compatibility code l un 8 0.137 4590F-8(Al)
1063] 88 }42| 10| 10 | 8 0.18 4590F-8/10 : ~ B3] os laslaa 4590F-8(Zn)
Y 1174 ol i 4590F-10(Al)
1175 ? 4590F-10{Zn)




MEXFRAME

)
Q
-
(8
O
(2]
b
@
| =
b
Q
&

B
& =
:‘: ) ™ /
; O ;@' c
A E'E \ L /
B
C:; il dele -1-1 B H
[ Acessories |QTY Description
5023 | 8 | M6 * 20mm Drop-In T-Studs
5076 | 8 Flange Nuts
5026 | 8 | M8™* 20mm Drop-In T-Studs
5077 | 8 Flange Nuts

Model | A |B| C| D | E

Weight (kg)| Compatibility code

1031 6
1017

wln

58 SST 6 |33

0.09 6060D-6

0.08 6060A-6

B C
e L/
Al L | @ @
- i i
e i i
LI —
4';5""-—-'?;.‘ 5 I @ @ I
\_
A 0D —
Acessories | QTY Description
5023 | 8 | M6 * 20mm Drop-In T-Studs
5076 | 8 Flange Nuts
Model | A [B| C| D [Weight (kg)| Compatibility code
1019| 60 [55[{6.5| 6 0.088 6060B-6

o B
imb
& &f
Al B ;
H : -
Feer e 1 e a g
e =
A
o]
Acessories [QTY Description
5023 | 8 [ M6 * 20mm Drop-In T-Studs
5076 | 8 Flange Nuts

Model | A |B|C| D | E

Weight (kg)| Compatibility code

1018 | 58 |58|8.5| 6

0.096

6060C-6




4 N 4
6060E Inside Corner Bracket 8080A Inside Corner Bracket
: 0
B
MEXFRAME i &
d :1", I o
[ g & & c
d - A d ,/
~ - ~ CJ:;TLL' T i et ey H Y '
[ A E([TD =
Acessories |QTY Description <l
5023 | 8 | M6 * 20mm Drop-In T-Studs Acessories |QTY Description
5076 | 8 Flange Nuts 5027 | 8 | M8 * 25mm Drop-In T-Studs
5027 | 2 | M8* 25mm Drop-In T-Studs | - < 5077 | 8 Flange Nuts
b 5077 | 2 Flange Nuts
3 Model | A [ B[ c [ D[ E [weight (kg)[ Compatibility code
o Model | A [B]C| D E F  |Weight (kg)| Compatibility code ~1020(78[78| 9| 8 |33] 0.184 8080A-8
E 1067| 57 |57 7| 9 8\10 6\8 0.13 6060E-6/8
(2]
@
4 R H
e 80808 Inside Corner Bracket 8080C Inside Corner Bracket
Q B 1
= B
& ~ C B!
i 4 H
8 8 o off
[N ) ;: b
Al i { : AL L AW
b : : i T
i | q! g g
_‘&' “;--Er-;;r_::::wl-r]- 1y a @ ‘: bn:::::::t::t::x:ﬂ .
A n - ' \ A
= E[l[p
il L] I I I
Acessories [QTY Description [ o VR m Acessories [QTY Description
5027 | 8 | M8* 25mm Drop-In T-Studs 5027 | 8 | M8 * 25mm Drop-in T-Studs
5077 | 8 Flange Nuts 5077 | 8 Flange Nuts

Model | A |B| C | D [Weight (kg)| Compatibility code Model | A [B| C| D E Weight (kg)| Compatibility code
| 1022] 75 (751 9| 8 0.125 80808B-8 ﬂ ' """ 1021) 78 (78| 9 | 8 5 0.2 8080C-8




7~ ™ 7~ ~N
|'1| 8080E Inside Corner Bracket 9090E Inside Corner Bracket
MEXFRAME B
T : 8 B
: o | - B T
b=
I
¢ — -
Acessories [QTY Description
| Acessories [QTY Description 5027 | 8 | M8* 25mm Drop-In T-Studs
5027 | 8 [ M8 * 25mm Drop-In T-Studs 5077 | 8 Flange Nuts
5077 | 8 Flange Nuts : 5031 | 8 [ M8* 25mm Drop-In T-Studs
5031 [ 8 [ M8 * 25mm Drop-In T-Studs 5077 | 8 Flange Nuts
5077 | 8 Flange Nuts
Model |A|B | C|D |E| Weight(kg) | Compatibility code
1071 76 (74/ 10| 10 8 0.254 8080E-8/10 -

100100E Inside Corner Btacletir

0
e

-t
(8]
[
(-]
-
Q
c
-
Q
S

Acessories |QTY Description
5027 | 8 | M8* 25mm Drop-In T-Studs
5077 | 8 Flange Nuts
5031 | 8 | M8 * 25mm Drop-In T-Studs
5077 | 8 Flange Nuts

Model |A[B|C|D |E[Weight (kg)| Compatibility code
-1079 |96|98/10|10{8 0.5 100100E-8/10

m




MEXFRAME

2 Hole 45 Ilnnrgnilnnle Bracket

ik

Model |A|B| C [D| E |Weight (kg)| Compatibility code
6139 [60]22{ 6.5 |6[45° 0.033 30
6140 |60[32| 9 |6/45" 0.047 40
6167 |60]42| 9 |6[45" 0.061 45
I Acessories Qry Description

5099 & 2JD-5135 | 2

M6 * 12mm BHSCS & Econ T-Nut

5102 & ZD-5142 | 2

M8 * 16mm BHSCS & Econ T-Nut

2]
c
2
7]
@
c
c
Q
S
o3
3
c
.§

\

| 2 Hole 135

Degree Angle Bracket

Model |A[B| C |D| E [Weight (kg)| Compatibility code
-6141 |60|52| 6.5 | 6/45" 0.078 3060
-6142 |60{72| 9 |6]/45" 0.107 4080
-6168 |60{82| 9 |6]/45" 0.13 4590
Acessories Qry Description
5099 & 2JD-5135 | 4 | M6 * 12mm BHSCS & Econ T-Nut
5102 & ZJD-5142 | 4 | M8 * 16mm BHSCS & Econ T-Nut

J B ~03-
. ©
| Model [AlB] ¢ [o] £ [weight (kg)| Compatibility code
6143 |60{22| 6.5 |6/135°|  0.039 30
6144 [60{32{ 9 |6{135'| 0.057 40
6169 160]42{ 9 |6{135°| 0.066 45
| Acessories Qry Description
‘[ 5099 & 2ID-5135 | 2 | M6 * 12mm BHSCS & Econ T-Nut
| 5102 & 2)D-5142 | 2 | M8 * 16mm BHSCS & Econ T-Nut




4 Hole 135 Degree Angle Bracket f

] 2 Hole 90 llanrge Angle Bracket

H ot

Ho

MEXFRAME

’

A ; 3 B

i
|_Model [A[B] c |D[weight (kg)| Compatibility code
6147|6022/ 6.5(6]  0.039 308
Model [A[8] ¢ [o] € [Weight (kg)| Compatibility code :133 50 3§ : 8 0'238 :‘S’g
6145 60|52/ 6.5 6]135'|  0.093 3060 == 6207]60{37] 9 [6] 0075
(7, gi:g g;‘; 2 2 gz giég :ggg Acessories Qry Description
| = - 5100 & ZJD-5135 | 2 | M6 * 16mm BHSCS & Econ T-Nut
.2 Acessories Qry Description 5104 & 2JD-5142 | 2 | M8 * 20mm BHSCS & Econ T-Nut
'B 5099 & 2JD-5135 | 4 | M6 * 12mm BHSCS & Econ T-Nut
O 5102 & 2J0-5142 | 4 | M8 * 16mm BHSCS & Econ T-Nut
=
S
(&) 4 Hole 90 Degree Angle Bracket 2 Hole 90 Degree Angle Bracket
od :
7] e ; @
b N
e &) X
o
S =
: - k- . SN
b - I
| I B L
A B
e A Pl el Comeatbiiey e |_Model [A[8] c |p|weight (kg)| Compatibility code
6149 |60/52/6.5|6/  0.098 30608 :gi:; ;: g; 6: 2 g'g‘;’ :gﬁ
6150(60/72| 9 |6| 0137 40808 :
6208 (53[42] 9 [8] 0.09 45A
Acessories Qry Description - —
5100 & 2JD-5135 | 4 | M6 * 16mm BHSCS & Econ T-Nut Acessories Qry Description
5104 & 2JD-5142 | 2 | M8 * 20mm BHSCS & Econ T-Nut




MEXFRAME

=
4 Hole 90 Degree Angle Bracket

7))
c
S
7]
@
c
c
Q
O
o3
3
€
.§

Luule hracket

e
A
T TIp
ey
B .
Model |A|B| C |D|Weight (kg)| Compatibility code
6153 [53]52|6.5|8 0.11 3060A
6154 [53|72| 9 |8 0.15 4080A
6296 (78172 9 |8 0.24 8080A
Acessories Qry Description
-5100 & 2JD-5135 | 4 M6 * 16mm BHSCS & Econ T-Nut
5104 & 2)D-5142 | 4 M8 * 20mm BHSCS & Econ T-Nut
Standard Anchor Fastener
B
"
D \

Model |A|B| C

o

Weight (kg)| Compatibility code

-2026 |15{12| 6.3

0.006 308B-6

| Acessories

Qry

Description

-5109 & ZJD-5138

M6 * 20mm SHCS & Econ T-Nut

Model | A |B| C

o

Weight (kg)| Compatibility code

2003 ) 19.5 16| 8.5[10{  0.0195 45-10
Acessories QrYy Description
-5111 & Z2JD-5142 | 1 | M8 * 25mm SHCS & Econ T-Nut




Standard Anchor Fastener Standard Anchor Fastener
c
MEXFRAME e s | [0 \ \
( :
#.g......._ ..... - B :
|
Acessories ary Description Model | A |B| C [D[Weight {kg)| Compatibility code |
" 51098 210-5138 | 1 | M6 * 20mm SHCS & Econ T-Nut 20381195 116185181 0.021 208.8 | oDl
- 5111 & ZiD-5142 | 1 | MB8* 25mm SHCS & Econ T-Nut
o Acessories Qry Description
ot 4 l Model A | B | C ID|Weight {kg) Compmbilltyoodeé 5111 & 2)D-5142 | 1 | M8 * 25mm SHCS & Econ T-Nut
t; | 2074| 12 |85/|4515 0.004 20A-5
Q 2001] 15 | 12| 7 16| 0.008 30A-6
= _o0z[195 16 [85[8[_oos | aons |
o 5l
(&
o3 T Hidden Corner Connector
(7)) A E
4 D
L
(=]
-

z
g
>
w
(g
(=}
m

Weight (kg)| Compatibility code
2004 [26]25/ms]58[10] 0011 | o206 |

Staldald Lrehor Fastsner

| Acessories |QTY Description |
5078 | 2 | MS5* 8 mm Threaded Insert |




MEXFRAME

.

al8] c] o [€]weight {kg)| Compatibility code .
38/31|m6] 7.8[15]  0.031 0B30CL-8 Model [A|8B| C|D|E|Weight {kg]| Compatibility code
N P £ T R 2030 |38]31|me] 8 [15] 0.031 OB30CE-8
38[31|M8| 9.8 19| 0042 0B45CL-10 2032 138131/M6} 8 115]  0.031 OBAOCE S
2034 |3831[ms10[19] 0042 OB4SCE-10
Qary Description l Acessories | QTY Description
2 M6 * 8 mm Threaded Insert | 5079 | 2 M6 * 8 mm Threaded Insert
2 | M8 * 10 mm Threaded Insert | 5081 | 2 | M8 * 10 mm Threaded Insert

Joints & Connections

Hidden Corner Connector Hidden Corner Connector
A
] A#
. Lot
r—=E
Tt
£ p R
A el B#
Model |A]8] C |D] £ |Weight (kgl] Compatibility code | I°N
2011 [30/30(m5(6{10]  0.019 GB308-6 P
2012 |40}44|m6[8[13]  0.043 GBA08-8 A | B| c |p| E [Fiweight (ke}| Compatibility code | s
[Acessories QN Descripion el p il e T e
‘ 5078 | 4 | MS* 8 mm Threaded Insert —— = - - == '#
| 5080 | 4 | M6 * 10 mm Threaded Insert ary Description
4 M6 * 8 mm Threaded Insert
4 | MS8* 10 mm Threaded Insert




MEXFRAME

Hidden Corner Connector
_L| N,
® 5 ™ ]
A ‘;ﬂ
\&
& o] Y

2]
c
L2
©
@
c
c
o
o
o3
2
£
S

_ Model | A |B C|D|E| F |Weightikg) | Compatibility code
2053| 37 |31 M6 Bi7§ 145 003 30F-8
2054 | 38 |32 M6(8 85| 19 0.042 40F-8
| 2055|375(31 M8{10/ 7 [ 17 | 0034 45¢-10
Acessories | QTY Description
5079 | 2 M6 * B mm Threaded Insert
5080 | 2 | M6 " 10 mm Threaded Insert
5081 | 2 | M8* 10 mm Threaded Insert

~ Model [A| 8 |c[D|Weight (kg)| Compativility code
2057 40| 10 M54 0018 306
2058 44{13.5M8 5| 0.031 406

Acessories |QTY|  Description
5078 | 4 M5* 8mm7readed lnsert |
5081 | 4 M8* 10mm Treaded Insert

Model | A [ B | C |weight (kg)| Compatibility code

2077|185 |R20] 6 0.013 20R

2013 ) 28,5 |R30] 9 0.046 30R

2014 | 385 [R40! 9 011 40R

2015 | 43.5 |R45| 125 0.126 45K
Acessories | QTY Description

5156 | 3 | M6 * 20 mm FHSCS

5080 | 3 | M8* 20 mm FHSCS

5091 | 3 | M8* 25 mm FHSCS

5092 | 3 | M12* 25 mm FHSCS




2-Way Corner Connector 3-Way Corner Connector
f f
d ./
o 9 p
MEXFRAME | @ ¢ P 9 @1 a
@ { A » L
9 9 P
° e p > = c m
A o’ |
\ - 9] ] U] 0]
\ b
B
[ Model | A | B | C | D |weight (kg)l Compatibility code |
| Model |A[B] ¢ | D | Weight (kg) | Compatibility code 2069| 30 | 30 | 95 [175| 0035 308 \
2068 [30{30] 95 |175| 0039 304 2071| 40 | 40 | 95 |175] 0114 408
2070 [40{40| 95 |17.5] 0.126 40A 2073| 45 | as [125]175] 0143 458
2072 |45[45]12.5]175|  0.165 45A
Acessories | QTY Description
| Acessories | QTY Description 5090 | 3 | MB8* 20 mm FHSCS
5000 | 2 | M8 * 20 mm FHSCS 5001 | 3 | M8*25mm FHSCS |
5091 | 2 | M8 * 25 mm FHSCS | 5093 | 3 | M12* 30 mm FHSCS
5093 | 2 | M12* 30 mm FHSCS |

Concealed 3-Way Corner Connector

. ¥
N 7

2]
c
2
7]
@
c
c
Q
S
o3
3
c
.§

o] £,

GeLLcr Gonnector

Model |A[8] C lWeight(kgl Compatibility code
2065 20/6/M4] 0025 | 201
2066 30/ 8 M6l 0073 | 30L
2067 40/8/M6| 0174 | 40L
Acessories |QTY ! Description
5296 | 4 | M4*5mm Treaded Insert
5079 | 4 | M6 * 8mm Treaded Insert |
5081 | 4 = MB8* 10mm Treaded Insert




MEXFRAME

72
c
]
©
@
c
c
o
o
o3
2
£
S

Economy Angle Clamp Block f

Four Anchor Slide-in T-Nut

Model A|B8| C (D E  Weightikg) | Compatibility code
2046 3030 @6.530 15 0.025 30
2016 37/35/@85 30 20 0.028 40
2017 43143 @85 38 225  0.046 45
Acessories ary Description
5088 & 2)D-5135 | 2 | M6 * 16mm FHCSC & Econ T-Nut
5090 & Z)D-5142 | 2 | M8 * 20mm FHCSC & Econ T-Nut

Four Anchor Slide-In T-Nut

*’ﬁs

=73 {] —X) =@ =
— s 3
=
Model | A | B |c|p| E |FiWeight (kg)| Compatibility code
2043110/ 10 |5|6] 5 {2] 0.084 GB30C-6
2044 1140 135 |6|8{ 653 0.104 GB40C-8
Acessories | QTY Description

5078 | 4 | MS* 8 mm Threaded Insert
5080 | 4 | M6 * 10 mm Threaded Insert

M5 * 8 mm Threaded Insert

M6 * 8 mm Threaded Insert

M6 * 10 mm Threaded Insert

E R R

M8 * 10 mm Threaded Insert

[e] [0] [e]

\C
B |Ci D | E [F{Weight {kg)| Compatibility code
100| 9.7 |5{59| 4 |1] 0.026 208-6
160| 15 |6] 8 | 4 |2 0.09 308-8
180/ 195(6| 8 |64|3] 0.182 408-8
180] 1958} 10 |55{5] 0.187 458-10
Qry Description

Foul beler Siide-ln T-Kut




1 -

A
MEXFRAME |

——— e —
o
|

138 W gt
-~

«

M

I\ — \%
A N\E
™ v \
\ H"“? \

1L AR
N L
\,.'\Lrﬁg&__

\

I

b
)
=)

Weight (kg)| Compatibility code |

I
2
—
(=]
o
~

0.101

304

!

»n
=
~
&
o0
S

0.266

404

I

Description

M6 * 16mm FHCSC

&
g
B
NNg

M8 * 20mm FHCSC

2]
c
2
7]
@
c
c
Q
S
o3
3
c
.§

Pivot Joint

=7

o | B
A

Model

¢ | o | weight kg)

Compatibility code |

2023

75| 24 0.178

308

2024

75| 29 0.28

408

2051

w
=]
NiNINT

95| 33 0.36

458

Acessories

Qry Description

5157

M6 * 30 mm FHSCS

5158

5233

1
1 | M8 * 40 mm FHSCS
1 | M8 * 45 mm FHSCS

“

— PR

I

| Model |[Alslc| D [weight (kg)| Compatibility code
| 2056(20{2|6{135| 004 208
Acessories | QTY Description

5254 | 1 | M5 * 20 mm FHSCS |

luet lolnt




MEXFRAME

2]
c
2
7]
@
c
c
Q
S
o3
3
c
.§

Support Connector

Model [AlB] c[ D] €] F |G |H]wei Compatibility code |
2025 [50{40{ 7.8 85| 8.5]7.8|45'[40] o0.085 40-8
Acessories Qry Description

. -51028.2)D-5142 | 1 | M8 * 16mm BHSCS & Econ T-Nut |

;{
A : ::‘.‘ (::E—' l:
{ { 1
| Lo
L B
Model |A]8] ¢ [D] E | F|G[Weightikg)| Compatibility code
2064 |45{15] 12.5 (32|65 {11/10{ 0.06% 45A
Acessorfes Qry Description |
| 5217 1 M12 * 30mm BHSCS
5102& 5142 | 2 | M8* 16mm BHSCS & Econ T-Nuts |

Model A|B|C|D| € | F | SHCS | Weightlkg) | Compatibility code

5326_18;3_0;'12‘ 8 13 178/ M5*25| 0.045 307
5327 25/40(14/ 8 13.8|8.8|M635 007 407
5328 32/45(14/10 16 9.8/ M8%45  0.08 ast

Central Connector

Model | A | 8| C |D]E|F[Weightikg)] Compatibility code
s5211|32.8/6.7]7.8)1618[11] 0019 08-P8-0°
5212| 32816778 161811 0019 0B-P8-90°
5213| 45 |9.519.8119/28/17] 0057 08-P100'

__5214| 45 |95]|98]19/28]17] o0.057 08-P10-90°




MEXFRAME

v
=
9
g
QO
=
=
Q
(&
od
8
=
S

Central Connector

Central Connector

| Model [AlB | C|

—j:' | /:_H:J !\[‘
\/

5215 |33/ 67 @16/@11 18 S|
5216 45 95 @19] ¢17 28 | [

Model | A [ 8 ¢c| b | E |Fl weightikg) | Compatibility code
5316(328| 5 8105 1655 001 GB-GPs(slot 6)
5317] 45 [68/11) 14 | 28 's| 0.032 GB-GP8(slot 8)

D | E | Weightikg) | Compatibility code
0021 | OBGPS
0.059 0B-GP10

Ob

CELLLel Gennector

) C
T ; —
E ]
5 |
L rubber ring '
o1
A
" Model | A | B |C D E|F |Weightlkg) Compatibility code
5312 328 @5 |6 10.5 165 @11| 001 GB-P6-0"
531332.8| 95 (6105165911 001 GB-P6-90"
5314 45 Qs_s §f147 ﬁzg, ¢11‘ 003 |  GBPRO
 5315) 45 (@688 14 | 28 |11 0,03 GB-PS90°
Angle Profile Connector
'g
;- {& O e
= A .
Bl {t- - }g ‘
1 E
c —l
Model | A | B | €| D | € F Weight{kg) | Compatibility code
5121/405| 98 |58/ 68 (4415 001 | 200
5354|405 98 |58 68 (4415 001 | 2090°
5122 | 59 [13.8/98| 98 | 6 20 0.032 300"
5355] 59 [13.8/9.8 98 | 6 20, 0032 30-90°
5123| 59 |158,9.8/108|64 25 0038 | 400°
5356 59 |158/9.8/108(6425 0038 | 40-90°
5124 | 59 |17.8/9.8(138|76.29, 0054 | 450"
5357] 59 [17.8/98/13.8/7.6 29 0058 |  4590°




Center Adjustable Angle

MEXFRAME

..... e e
A :
 Model (A B c| D |Eweightikg) | Compatibility code
5329.65/5.8.44 68 15 0015 20-0°
5219/65/5.8/4.4| 6.8 |15/ 0.015 20-90° ) - - '
w 5330/95/9.8 6 9.8 20/ 0048 300° Model | A | B | c! D | E | F |Weightlkg) | Compatibility code
- 5220/95/98 6 | 9.8 20, 0.048 30-90° . 5346 62 | 27 M5 58 44|94 0024 20A
(=) 5331(95/9.8 6.4 10.8(25' 0.059 400" | 5348 74 | 27 (M6 8 | 58 (157 0.054 304
‘,E 5221.95/9.8 64 108 25/ 0.059 40-90° | 5350/825) 27 M6, & |95 /195 0095 40A
5332(95/9.8 7.6/138 29 0.088 45-0° 5352825 27 M8 10 |105/195 0094 | 45A
g 52229598 7.6/138 29| 0088 45-90°
e .
Q A
(&
o Simple Any Angle Connector
3 =
=
‘© o
o & &
'S
’
-r
Ly —
) J
Model |A|B/ C| D[ E | F |weightkg) | Compatibility code [ VR s ~
: : | e L v [l I_ £
5347 7427/M5 58| 44 | 94 | 0.026 208 LU..I_ U.& Lu.i.l L \.U.Q L
5349 8027/ M6 8 | 5.8 157 0.055 308 L ey P
5351 6227 M6 8 | 95 195 0.109 408 b U ULLL‘LLUL
5353 62/27 M8 10 |105/195| 0.108 | 458




Standard End Fasteners » Standard End Fasteners

A

MEXFRAME H‘T 4 J_—r;{ —‘EI i

o
2

___ Destripion

_ M5*16mmBHSCS

M6 * 20mm BHSCS

| MB*25mmBHSCS
M12 * 30mm BHSCS
‘M5 * 16mm BHSCS
‘M6 * 20mm BHSCS
MB * 25mm BHSCS

— -iu- b

, _ Model | A | B | C| D[ E |l 6 [Weghtlkg) | Compatibility code
Acessones QI Dewnpnon 5118 165 10 | 5 | 55 19311 46 0,003 208
::gg : xg;g::::::g 519/ 21 13 |6 |65(2872(76 | 0006 | 308
5120277 17 [77| 9 | 35 12 10 | 001 408
265 1 1 | MBS~ ZSmm BHXCS 5125 30 | 21 101254052/ 12 | o015 258
_Model (Al B IC o] E | Weight(kg) | Compatibility code 5126 17 | s 142/52 | 20 1| 48 | 0002 200
5187 17 10 5, 65/ 1 0002 204 5127, 21 | 10 | 6 | 62| 29 z 7 | D005 30C
5082 23 1558 B |15  0.006 304 5128 27 138 8|85 3392/ 88 0009 a0c
508332/175(8/ 8 | 2 . 001

Fixed Inside Fastener

Joints & Connections

.

\L ; i . e L | Madel 1A|___ ¢ D_LE |F|SHCS| weight(kg) | Compatibility code
") | 0 l_ ,L— =S 2045(28/134 82 M8/8 14 85 | 0012 408
L l LU U‘I U LaslC U'L' l - 205220, 18 (B2 M8|1014 85 0017 45(@8)— 10
Acessories | QTY| Bescription

500085224 | 1 | M8 * 20mm FHSCS & Treaded Insert




Flat Steering Connecting Plate [

A /-\ R B
H i) )
r ! -~ <2
MEXFRAME - -~
: —d R R O (S v | (U | B OX
" v
dg - =
- -
-
; — . N Model | A |BIC| D'| E | Weight(kg) | Compatibility code l " Y
- —— A
M°2d::7 :5 g 6C3 6°3 :0 Weg‘ggkg’ C°m°a‘3'g‘l'\"" bode 2049/110/25/3/6.1/ 80| 0.4 30A }6 )
‘ R : 2050 (130313 8.1/100, 0.204 40A
v 2048 |96/3 8.1 8.1 66 0.11 40A ) :
g | Acessories |QTY Description
1 Acessories | QTY Description 5098&5138 | 4 M6 * 10mm BHSCS & Econ T-nut
'U 509885138 | 4 M6 * 10mm BHSCS & Econ T-nut 5223&5142 | 4 M8 * 12mm BHSCS & Econ T-nut
Q 5223&5142 | 4 M8 * 12mm BHSCS & Econ T-nut
=
c
S
o 4 Hole Tee Joining Plate 4 Hole 90 Degree Joining Plate
> e . ~ — -
] ® 2
o -
=
[T a
o -~ - - @
q B A
- ]
-~ C
a -
\ i ==) Al B
A
Accessories | QTY Description Accessories | QTY Description
536085271 | 4 | MG"6 BHSCS & Slide-in T-nut 536085271 | 4 | M6"6 BHSCS & Slide:in T-nut
5098 &5343 | 4 | M6"10 BHSCS & Econ T-nut 5098 &5343 | 4 | M6*10 BHSCS & Econ T-nut
5223&5344 | 4 | M8*12 BHSCS & Econ T-nut 5223&5344 | 4 | M8*12 BHSCS & Econ T-nut
5102&5336 | 4 | M8"16 BHSCS & Slide-in T-nut 510285336 | 4 | M8"16 BHSCS & Slide-in T-nut
5102 &5336 | 4 | M8*16 BHSCS & Slide-in T-nut 510285336 | 4 | M8*16 BHSCS & Slide-in T-nut
Model | A | B | | D |E|Weight(kg) | Compatibility code Model | A |B|C| D | E|Weight(ke) | Compatibility code
2084 | 60 | 60 (@7, 2.5 18  0.032 208 2075 60 |18 @#7/2.5/18] 0.032 208
2059 | 85 | 85 |@7/2.5 26  0.07 308 2061 | 85 |26/@7/2.5(26]  0.07 308
2060 | 85 [110(@9/ 3 136 0.107 408 2062 110{36/@9| 3 |36/ 0.125 408
2085 100/137(@9! 3 42| 0.18 458 2076 /126429 3 |42| 0.194 458
2086 |110{146/@9| 3 146! 0.216 508 2078 |136/46/09| 3 |46/ 0.232 508




MEYFRAME

Joints & Connections

Inside Corner Bracket

2 Hole Siotted Inside Corner Bracket

2 Hole Inside Corner Bracket

A |B|C| D | E|Weight (kg)| Compatibility code

18 |25/ 25| 3 |S5.3| 0.0076 20

22 [25/25| 3 |6.3 0.009 25

26 [30/30] 4 |63 0.016 30

36 [40[40| 6 [8.3 0.048 40

Acessories Qry Description
5094 & ZJD-5132 | 2 M5 * 8mm BHSCS & Econ T-Nut
5098 & ZJD-5226 | 2 | M6 * 10mm BHSCS & Econ T-Nut
5098 & 2JD-5135 | 2 | M6 * 10mm BHSCS & Econ T-Nut
5102 & 2JD-5142 | 2 | M8 * 16mm BHSCS & Econ T-Nut

-

2 Hole Lite Transition Inside

Model |A[B| C [ D | E [ F [Weight (kg)

Compatibility code

6006|1825 12.5|8.3| 6.3 | 3 0.0075 20 Series to 40 Series
Acessories QrY Description
5094& 5132 2 M5 * 8mm BHSCS & Econ T-Nut
5223& 5142 2 | M8* 12mm BHSCS & Econ T-Nut

Model [A[B|C| D | E | F |Weight (kg)| Compatibility code
6174 22|25(25/8.5| 4 |63 0.015 25
6004 |26/30{30/8.5| 5 |6.3 0.017 30
6005 {36/40|40| 12 | 12.2|8.3 0.048 40
Acessories Qry Description
5098 & 2JD-5226 | 2 | M6 * 10mm BHSCS & Econ T-Nut
5098 & ZJD-5135 | 2 | M6 * 10mm BHSCS & Econ T-Nut
5102 & 2)D-5142 | 2 | M8 * 16mm BHSCS & Econ T-Nut




2 Hole Standard Transition

Inside Corner Bracket 3 Hole Inside Corner Bracket
ke Qe
MEXFRAME )
’ B
NS Model |A|B| C |Weight (kg)| Compatibility code
Model |A[BICID]| E | F [Weight (kg)| Compatibility code ‘ :;;: ;é 3 g g‘g;: :
6007 [26/40/6(2018.316.3| 0035 | 30 Series to 40 Series ' 5009]36/80] 40 o %
Acessories Qry Description Acessories Qry Description
5099& 5135 | 1 | M6 " 12mm BHSCS & Econ T-Nut 5098 & 2)D-5226/5225 |38&2| M6 * 10mm BHSCS & Econ T-Nut
5102& 5142 [ 1 | M8* 16mm BHSCS & Econ T-Nut | 5098 & 2JD-5135/5139 |3&2| M6 * 10mm BHSCS & Econ T-Nut
5102 & 2)D-5142/5144 |3&2| M8 * 16mm BHSCS & Econ T-Nut

3 Hole Siotted Inside Corner Bracket 4 Hole Inside Corner Bracket

)
Q
-
(8
£
o
[ .
@
=
{
Q
&
Q
2
2]
=

Ko
Model JA[B| C | D| E | F |Weight ( Compatibility code | Model [A|B]| C Weight (kg)| Compatibility code
6176122|50| 25 |85| 4 |63 0.018 25 : 6012 |56/30| 30 0.032 3060
6010126/60| 30 |11| 5 [63] 0025 30 __6013|76/40] 40 | 0102 4080
6011 {36/80| 40 |12]122(83 0.072 40
Acessories Qry Description
Acessaries Qry Description 5098& 5135 | 4 | M6* 10mm BHSCS & Econ T-Nut
5098 & BD—SZZG/SZZS 382| M6 * 10mm BHSCS & Econ T-Nut 5102 & 5142 4 M8 * 16mm BHSCS & Econ T-Nut
5098 & ZJD-5135/5139 [3&2| M6 * 10mm BHSCS & Econ T-Nut
5102 & Z)D-5142/5144 [3&2| M8 * 16mm BHSCS & Econ T-Nut




MEXFRAME

4 Hole Inside Corner Bracket

‘kﬁ

e

Model |A| B | C | D[ E [Weight (kg)| Compatibility code | Model |A[ B | C [D| E | F |Weight (kg)| Compatibility code
61771221125 25 | 50| 6.3 0.029 25 6203 (47| 25 | 25 |85| 4 [6.3 0.03 25
6014126] 15 | 30 | 60| 6.3 0.035 30 6016 {56/ 30 | 30 |94| S [6.3 0.038 30
6015136/ 20 | 40 | 80| 8.3 0.096 40 6017 (76| 40 | 40 | 12]12.2(83 0.1 40

Acessories Qry Description Acessories Qry Description
5098 & 5225 482| M6 * 10mm BHSCS & Econ T-Nut 5098 & 5225 4&2| M6 * 10mm BHSCS & Econ T-Nut
5098& 5135 48&2| M6 * 10mm BHSCS & Econ T-Nut 5098 & 5135 48&2| M6 * 10mm BHSCS & Econ T-Nut
5102& 5144  |4&2| M8 * 16mm BHSCS & Econ T-Nut 5102& 5144  |4&2| M8*® 16mm BHSCS & Econ T-Nut

4 Hole Lift Double Wide Transition
Inside Corner Bracket
« ks

4 Hole Transition Inside Corner Bracket

)
Q
-
(8
£
(22 ]
[ .
@
=
{
Q
&
Q
2
2]
=

Model |A|B|C|[D|E| F Weight (kg) Compatibility code
6018 (20| 40 | 26 | 6 | 83 [6.3 0.069 30 Series to 40 Series Acessories Qry Description
, _ 50998 5135 | 2 | M6 * 12mm BHSCS & Econ T-Nut
e A a: pechpan 5102& 5142 | 2 | M8* 16mm BHSCS & Econ T-Nut
5098 & 5139 2&1| M6 * 10mm BHSCS & Econ T-Nut
5102& 5144 2&1| M8 * 16mm BHSCS & Econ T-Nut




MEXFRAME

Modei

A|BIC| D

Weight (kg)| Compatibility code

6020

56/60{30{9.4

0.056

3060 & 3030

6021

76|80(40| 12

0.14 4080 & 4040

Acessories

Description

5098& 5139

683

M6 * 10mm BHSCS & Econ T-Nut

5102& 5144

6&3

M8 * 16mm BHSCS & Econ T-Nut

)
Q
-
(8
£
o
[ .
@
=
{
Q
&
Q
2
2]
=

6 Hole Inside Corner Bracket

Model | A| B | C |Weight (kg) Compatibility code
619786 | 30 | 30 0.05 3090
6198 116] 40 | 40 0.13 40120
Acessories Qry Description
5098 & 5135 6 M6 * 10mm Drop-In T-studs & Flange Nuts
5102& 5142 6 | MB8* 16mm Drop-In T-studs & Flange Nuts

6 Hole Slotted Inside Corner Bracket

Model | A| B | C |Weight (kg)| Compatibility code
6022} 56| 60 | 30 0.056 3060
6023 | 76 | 80 | 40 0.145 4080
Acessories Qry Description
5098 &  5139/5135 |6&28&2 M6 * 10mm BHSCS & Econ T-Nut
5102 &  5144/5142 |6&2&2 M8 * 16mm BHSCS & Econ T-Nut

Model | A | 8| C|Weight (kg)| Compatibility code
6201 | 86 (30{30{ 0.046 3090 & 3030
6178 {116(40{40| 0.13 40120 & 4040
Acessories qary Description
5098& 5135 6 M6 * 10mm Drop-In T-studs & Flange Nuts
5102& 5142 6 M8 * 12mm Drop-In T-studs & Flange Nuts




6 Hole Center Inside Corner Bracket | 6 Hole Right |II8|I|!GMIIOI Bracket

MEXFREME

Model |A|[B|C|Weight (kg) Compatibility code

6024 [56/60[60[26] 0,07 | 3030 Series to 3060 Series SEchjiienae) oo e
5098 & 5139 |6&3| M6 * 10mm BHSCS & Econ T-Nut
5102 & 5144 |6&3| M8 * 16mm BHSCS & Econ T-Nut

Acessories Qry Description
5098 & 5139 |6&3| M6 * 10mm BHSCS & Econ T-Nut
5102 & 5144 |6&3| M8 * 16mm BHSCS & Econ T-Nut

6 Hole Left Inside Corner Bracket 8 Hole Inside Corner Bracket

)
Q
-
(8
£
(22 ]
[ .
@
=
{
Q
&
Q
2
2]
=

Model |[A|B|C|Weight (kg)| Compatibility code
Model |A|B|C|Weight (kg) Compatibility code 6028 |56/60/60|  0.075 3060
6165 |56(60|26 0.073 3030 Series to 3060 Series 6029 | 76/80(80 0.195 4080
6027 | 76/80(36 0.145 4040 Series to 4080 Series 6159 |86/80{80 0.23 4590
6161 |96{80/80] 0.258 50100
Acessories Qry Description - —
5098& 5139 |6&3| M6 * 10mm BHSCS & Econ T-Nut Acessories oy Bescription
5102 & 5144 |6&3| M8 * 16mm BHSCS & Econ T-Nut 5098 & 5139 |8&4| M6 * 10mm BHSCS & Econ T-Nut

5102& 5144 |8&4| M8 * 16mm BHSCS & Econ T-Nut
5103 & __ 5144 |8&4| M8 * 18mm BHSCS & Econ T-Nut




8 Hole Double Wide Transition .

Inside Corner Bracket 9 Hole Slotted Inside Corner Bracket

MEXFRAME

Model | A| B | C |Weight (kg) Compatibility code
620086 | 60 | 30 0.073 3090 & 3030
6172|116/ 80 | 40 0.202 40120 & 4040
b | Model [AlB|clplE|F] 6 Weight (kg) Compatibility code
3 6030 |20]40[80[6]8.3]6.3[62.5] 0.048 | 3060 Series to 4080 Series P v Description
g [ A eEEcoTIee an Description 5098 & ZID-5139&5135 |9&3&3| M6 * 10mm BHSCS & Econ T-Nut
! ¥ . i
a 5099 & 5139 |4&2| M6 * 12mm BHSCS & Econ T-Nut 5102 & 2)D-51448&5142 | 9&3&3| M8 * 16mm BHSCS & Econ T-Nut
— 5102 & 5144 |4&2| M8 * 16mm BHSCS & Econ T-Nut
Q
=
8 12 Hole Inside Corner Bracket 2 Hole Inside Gusset Corner Bracket
Q
"] 0
.B Q
c 9 o
_— a0 ¢
o o 9
o (=)
<
B
Model | A [ B|C|Weight (kg)| Compatibility code Model |A|B|C|Weight (kg)| Compatibility code
6173 | 86 |60{60]  0.099 3090 6031 [26{30[{30| 0.028 30
6199 [116|80|80 0.272 40120 6032 |36{40{40 0.057 40
6163 |42(40{40 0.075 45
Acessories Qry Description : '
50988& 5139 |9&6| M6 * 10mm BHSCS & Econ T-Nut Acessories Qry Description
5102 & 5144 |9&6| M8 * 16mm BHSCS & Econ T-Nut 5098 & 5139 |9&6| M6 * 10mm BHSCS & Econ T-Nut
5102 & 5142 |9&6| M8 * 16mm BHSCS & Econ T-Nut
5103& 5142 [8&4| M8 * 18mm BHSCS & Econ T-Nut




)
Q
-
(8
g
(22 ]
|
Q
| =
|
Q
&
@
2
(7]
=

4 Hole Inside Gusset Corner Bracket

4 Hole Inside Gusset Corner Bracket

A|B|C|Weight (kg)| Compatibility code
22{50/50(  0.041 25
26(60|60 0.06 30
36/80/80[ 0.125 40
42|80/80 0.15 45
Acessories Qry Description

Weight (kg)| Compatibility code
0.05 3060
0.126 4080
Qry Description

5098 & ZJD-5225 |4&2| M6 * 10mm BHSCS & Econ T-Nut

5135 | 4 | M6 * 10mm BHSCS & Econ T-Nut

5098 & ZJD-5139 [4&2| M6 * 10mm BHSCS & Econ T-Nut

5142 | 4 | M8 * 16mm BHSCS & Econ T-Nut

5102 & 2JD-5144 [4&2| M8 * 16mm BHSCS & Econ T-Nut

5103 & ZJD-5142 | 4 | M8 * 18mm BHSCS & Econ T-Nut

8 Hole Inside Gusset Corner Bracket

Model |A|B|C|Weight (kg)| Compatibility code

6037 |56/60|60 0.125 3060

6038 |76/80|80 0.25 4080

6160 |86/80|80 0.3 4590

6162 |96/80{80 0.35 50100
Acessories Qry Description
5098 & 5139 8&4 M6 * 10mm BHSCS & Econ T-Nut
5102& 5144 824 M8 * 16mm BHSCS & Econ T-Nut
5103& 5144 8&4 M8 * 18mm BHSCS & Econ T-Nut




2 Hole Joining Strip

T
MEXFRAME //
e LRV 4

-; 2 Hole Transition Center Strip

Acessories Qry Description . : — : =
5094 & 5134 | 2 | M5*8 BHSCS & Econ T-nut l
5099 & 5343 | 2 | M6*12 BHSCS & Econ T-nut 20 »
5102 & 5142 | 2 | M8*16 BHSCS & Econ T-nut : “ _ Acessories  |QTY Description
5103 & 5142 | 2 | M8*18 BHSCS & Econ T-nut C 524185132 | 1 | M5*25 BHSCS & Econ T-nut
"-'J .
Model |A|B|C| D | Weight(kg) | Compatibility code a0 - AR
6039 18/40|4|5.3| 0.013 20 Model TATBT € D |E[ F [Weightike) | C tibility cod
| 6040(28/60[4/63] 0016 30 oce e
% 6041 (38/80/6/8.3| 0.048 40 6179 37|63 (8.3|?6.3|9/19 0.08 ADAD arias trofle
© 6042 42/90/6/8.3] 0.058 45 P
[«a] .
(&N 2 Hole Transition Slotter Center Strip e i 2 Hole Transition Strip
2 —— = ~ | | - .
(&
/ v/
>
8
AY
v m \ J
o
Acessories Qry Description Acessories Qry Description
5241 & 5132 | 1 | M5*25 BHSCS & Econ T-nut 5098 & 5138 | 1 | M6*10 BHSCS & Econ T-nut
5102 & 5142 | 1 | M8*16 BHSCS & Econ T-nut 5102 & 5142 | 1 | M8*16 BHSCS & Econ T-nut
Model |A|B| C | D |E|F | Weight(kg)| Compatibility code Model |A|B|C|D|E| F | G | Weight(kg) | Compatibility code
6180 37/63(@8.3 @6.3|o[10| 00y | OIS 2020seriesto 6043 [20(35|1524|4| @8 3| 63| 008 ['Ons3030seriesto
4040 series profile 4040 series profile




T

3 Hole Joining Strip LM 5 3 Hole Transition Strip

- °\ °
EngE ////0 w@ b/\n ® L,g?

H
= ,. M
4
e
Acessories Qry Description
5094 & 5190/5132 | 3&18&1| M58 BHSCS & Econ T-nut 40 F
Badanit [ o mastn | | masin | venonsatonran
: on o 510285142 1 | MB8*16 BHSCS & Econ T-nut
Model |A| B |C D | Weight(kg) = Compatibility code
1.-; 6044 18 60 453 0012 20 Model |A| B (C| D (E[Fl G | H |Weight{kg) | Compatibility code
R~ 5045 128) 90 146.3| 0024 | 30 A_ Joins 3030 series to
%) @4_64}_8412076;8.3 0073 | 40 6048 |20/ 32.5 |25(12.5 28 5! ?83|@6.3  0.04 4040 series profile
© 6047 |42/135/6/83] 009 | a5 |
m o N m
8] d Hole Transition Strip T 4 Hole Joining Strip
2 -
&
(J/\ @ 7 @ 7 /
L = J
Acessories Qry Description
Acessories QTY] Description — 5098 & 5138/5139 '4&3! M6*10 BHSCS & Econ T-nut
5099 & 5139 | 1 = M&*12 BHSCS & Econ T-nut 40 5102 & 5144/5142 4&3, M8*16 BHSCS & Econ T-nut
5102 & 5142 2&1 M8*16 BHSCS & Econ T-nut - —
Model |A B ' Weight(kg) | Compatibility code
Model |A| B |C| D |E|F G | H | Weight(kg) | Compatibility code 6050 (281200 0.037 30
5049 |20/ 32.5 25125 |28(6 #8.3|@6.3| 004 [POINS3030seriesto 6051]38/160, 0.098 40
| 4040 series profile




4 Hole Transition Corner Strip [ = < | 4 Hole Transition Corner Strip
‘ | q]
c | & *__Q
MEXFRAME Th
E C |
[
D ’ a ) . — .‘ L & I ‘é B
- \ -@
4 2040 ! b
" ! 2020)% = S\AF
- “ J - - -
Acessories gQTy Description é:; g ” Acessories Qry Description
" ®
524185132 | 2 M5*25 BHSCS & Econ T-nut 4040 ’ 5241 & 5132 | 2 M5%25 BHSCS & Econ T-nut
5102 & 5142 2 M8*16 BHSCS & Econ T-nut 4080 5102 & 5142 2 M8*16 BHSCS & Econ T-nut
| . adiiaga
y' Ml [ Model [A]B] C | D | E|F G| H| Weight(kg) | Compatibility code Model Bl C 1D IEFGIH|I|Weightlke) JC?m;;a(:;t();hty _°°dte
S Joins 2040 series to 6182(18/116/083|06.3/31920/40/18| 002 | oo CUoUSeres o
u ! ¥ . oD | A <
& 6181 76/63|@8.3 6.3 40/20/9/119  0.16 | 4040 series profil | 1 4080 series profile
[ <
(8 4 Hole Transition Corner Strip il | B 4 Hole loining Plate
z — — P — - N = =
(&)

\
/ \
Acessories Qry Description Acessories Qry Description
5241 & 5132 | 2 | M5*25 BHSCS & Econ T-nut 5098 & 5139 |4&2| M6*10 BHSCS & Econ T-nut
5102 & 5142 | 2 | M8*16 BHSCS & Econ T-nut 5102 & 5144 |4&2| M8*16 BHSCS & Econ T-nut
Model | A l B| C | D |E|F|G H|Weightlkg)| Compatibility code Model [ A | B | Weight(kg) | Compatibility code
! Joins 2020 series to 4080 6052 60/60, 0.025 30
6183 |76 63/ ¥8.3| (6.3 40|20/9/19| 0.16 . i
! ; i i l series profile 6053 |80/80|  0.095 40




. —_“ﬁ E——=—= —
4 Hole Transition Plate : L ( 6 Hole Joining Plate
e \A
MEXFRAME T 9 \
—_— \)
I\
‘ (
(h < :‘ - . N (/ %
| — \ AT 3
| , =5 j
\/ \}}/\/ - \,
Accessories QTyY Description Ac;ess;nels 9 S;Y o1 ::Sérs"g':n T
524185132 | 2 | M5*25 BHSCS & Econ T-nut 5132 . :124 s&i ma*lg BHzcs - E°°” T‘”“t
5102 &5142 | 2 | M8*16 BHSCS & Econ T-nut 3 il
o : R Model |A| B | Weight(kg) | Compatibility code
JO) | Model [ALBILIC L D IE|Weightlke) Joi:s°;(')’;2t:2:;te‘gct‘;d:0 ;s 605460/ 90 | 0.057 303083060
o 6184 |80|66|(06.3|(8.3|6| 0.08 . : 6055 {80({120| 0.155 404084080
© series profile ‘
m ] - = // m
o —— ~ 'S )
(8 6 Hole Transition Double Strip 6 Hole Transition Double Strip
2
(&)
S — =8 )
Accessories | QTY Description Accessories | QTY Description
5099 & 5139 |4&2| M6*12 BHSCS & Econ T-nut 5095 & 5132 | 2 | M5*10 BHSCS & Econ T-nut
5102 & 5144 |2&1| M8%*16 BHSCS & Econ T-nut 5102 & 5144 |4&2| M8%*16 BHSCS & Econ T-nut
Model |A|B| C D | Weight(kg) | Compatibility code Model |A| B |C| D E | Weight(kg) | Compatibility code
Joins 3060 series to Joins 2040 series to
6185 |80/96|%6.3 |08.3 0.11 6186 [80|106(60 ©6.3|®8.3 0.13
el 4040 series profile Peia @ 4080 series profile




L S : ; = s .» e .
8 Hole Joining Plate S : 8 Hole Transition Plate
AN
MEXFRAME o
) (
% N
Q £
ot § >
Q - = \ »
Q
L =060
\ -~ B :
o 3 Zs
Accessories Qry Description Sy / Accessories Qry Description
- *
5095 & 5132 /8&4| M5*10 BHSCS & Econ T-nut aﬁﬂ% & 5099 & 5139 |4&2| M6*12 BHSCS & Econ T-nut
5102 & 5144 |8&4| M8*16 BHSCS & Econ T-nut 5102 & 5144 4&2 M8*16 BHSCS & Econ T-nut
- Model |[A| B | Weight(kg) | Compatibility code Model A8 ICI D | D |Weightike) JC?m;; aot::)'l'ty .COdte
9 6056 60 120|  0.08 3060 6187 |80/136/60|#6.3|#8.3|  0.16 :(')';; serieze'r'z:“:
L2 ] 6057 |80(160 0.125 4080 P
E e — '
(s} r e | — -
O 4 Hole 90°Joining Plate l. £ 5 Hole 90°Joining Plate
e »
.| ‘ & " - ® z
,_;-7_'_' \:!k'l‘" = 7, A ‘ |
Accessories Qry Description
5094 & 5190/5134 |5&3| M5*8 BHSCS & Econ T-nut 3
e I Siiin s e Dt o
* ) con T-nu
BN L0 4821 Mb 40 B3O & Eean Tt 5103 & 5144/5142 |583| M8*18 BHSCS & Econ T-nut
5102 & 5144 |4&2| M8*16 BHSCS & Econ T-nut
Model | A | B [C| Weight(kg) | Compatibility code
Model |A| B | C | Weight(kg) | Compatibility code 6060 | 60 [20{4|  0.056 20
6058 |60| 90 (30| 0.04 30 6061 90 (30,4 0.064 30
6059 80/120/40] 0.118 40 6052 1120140161 0.168 40
6063 [135/45/6/  0.168 45




e
2

(3]

g
(-]
O
&
(&

' —, ~ )
6 Hole 90°loining Plate A 1Hole 90°Joining Piate
MEXFRAME @
B
:-.;.; e i l
T——— )
Accessories | QTY Description Accessories any| Description
c198.8 5135 T5a] ME*I0 BHSCS & Food Tant 5098 & 5139/5138 | 784 M6*10 BHSCS & Econ T-nut
5102 & 5144 6&3 M8*16 BHSCS & Econ T-nut 5102 & 5144/5142 | 7&4 M8*16 BHSCS & Econ T-nut
Model |A| B |C|Weight{kg) Compatibility code Model | A | B | C | Weight{kg) | Compatibility code
6064 60 120/30|  0.05 306083030 6066 11201301501 0069 30
6065 80 160/40 0.168 408084040 6067 |160/40/40| 0.279 40 m
A
| ") T
1Hole 90°Joining Plate 9 Hole 90°Joining Plate
- ¢
[ S 0
i d 0
S 0 0
9 o |
! el W Q
L . ! [P el Al Q
L 3 et N—-ﬁ.-&:%;‘*:—J A
< 9. = »o-om
Accessories ary| Description = Accessories Qry Description
5098 & 5139/5138 7&4| M6*10 BHSCS & Econ T-nut 5" » 5098 & 5139 & 5343 ' 9&3&3| M6*10 BHSCS & Econ T-nut
5102 & 5144/5142 |7&4| M8*16 BHSCS & Econ T-nut 5102 & 5144 & 5345 9&3&3| M8*16 BHSCS & Econ T-nut
Model | A | B | C| Weight{kg) | Compatibility code Model | A | B | C|D | Weight(kg) | Compatibility code
6068 | 90 |60/30 0.08 3030 & 3060 6205 |116| 90 |28/58| 0.093 3060 & 3030
6069 11208040/ 0.168 4040 & 4080 6206 |156({120/38/78) 0.25 4080 & 4040




4 Hole Tee loining Plate

12 Hole 30°Joining Plate

MEXFRAME

; - -
: = P Accessories  |QTY Description
Accessories | QTY Description (o .

5098 & 5139 | 1286 M6*10 BHSCS & Econ T-nut g et 'zgzgzzﬁi :‘;‘; m*ig g::g:imn I”"“:

5102 & 5144 | 1286 M8*16 BHSCS & Econ T-nut | ' .
-E; Model | A | B| Weight(ke) | Compatibility code Model |A| B | C| Weight{kg) | Compatibility code
b~ 6072 60| 90 |30 0.038 30
S 6070 120 60 0.128 3060 g £ o o e o
© 6071 160/80|  0.35 4080 :
(-]
(8 9 Hole Tee Joining Plate 6 Hole Tee loining Plate
z — . et — S— — =
(&)

Accessories Qry Description
5094 & 5190/5134 |5&3| M5*8 BHSCS & Econ T-nut
5098 & 5139/5138 |5&3  M6*10 BHSCS & Econ T-nut - ——
5102 & 5144/5142 |583| M8*16 BHSCS & Econ T-nut flenesones _any | Description
5103 & 5144/5142 |5&3| M8*18 BHSCS & Econ T-nut 5098 & 5139 & 5135 6&2&2 M6*10 BHSCS & Econ T-nut
*

Model | A | B C| Weight(kg) | Compatibility code 5102 & 5144 & 5142 | 6&2&2 M8*16 BHSCS & Econ T-nut
6074 | 60 [2014] 0.053 20 Model | A | B | C | Weight{kg) | Compatibility code
6075/ 90 304, 0.064 30 6188 |150/30/58| 0.073 30
6076 /120/40 6/  0.168 40 6189 20014078 0.2 40
6077 135/456. 022 45




S ’ - -
THole Tee Joining Plate ‘l l ‘ 8 Hole Tee Joining Plate
ARLLUaL
MEXFRAME : .
. . ‘\_.A D
: l ® 9 E—,
' B
~ Accessories |QTV1 Description
Model | A | B Weight(kg) | Compatibility code _ 5098 & 51/39 (884 M6*10 BHSCS & Econ T-nut
5102 & 5144/5142 3&4. M8*16 BHSCS & Econ T-nut
6078 120 30 —0'0§9 30 5102 & 5144/5142 8&4 M8*18 BHSCS & Econ T-nut
6079 1160 40 0.279 40
: Madel | A | B |C D|Weight(kg) | Compatibility code
Accessories ary| Description 6080120 90 (6030, 0076 | 3030 & 3060
5098 & 5139/5138 78&4, M6*10 BHSCS & Econ T-nut x; !g i:‘s’ :g :: g;%g z :g::& 4‘5180
5102 & 5144/5142 | 7&4| M8*16 BHSCS & Econ T-nut 2 ‘ L2
11 Hole Tee Joining Plate | .lx lJ 12 Hole Tee Joining Plate

e
2

(3]

s
(-]
O
&
(&

. 0@
® e 9 ®
l |
Model | A | B | C| Weight(kg) | Compatibility code Accessories | QTY Description
6190 [150| 86 |28'  0.12 3030 & 3090 5098 & 5139 |12&6| M6*10 BHSCS & Econ T-nut
6191(200/116/38'  0.31 4040 & 40120 5102 & 5144 | 12&6| M8*16 BHSCS & Econ T-nut
Accessories ary | Description Model | A | B | Weight(kg) | Compatibility code
5098 & 5139 & 5343 | 11&5&1  ME*10 BHSCS & Econ T-nut 6083 112060/ 0.107 3060
5102 & 5144 & 5345 | 11&5&1 MB8*16 BHSCS & Econ T-nut 6084|160 80 0324 4080




16 Hole Tee Joining Plate im T \l\ \} | 7Hole Cross-loining Plate
3 L NN AN ‘ \ |
=8 bl »
; C B
MEXFRAME 0“0 . . 290 .....F QXQ
— L L Y ® o ‘
o : 9 2 i ) ® N B
9 9 B ® ° ° ® " ‘ Q D,
v oy s Q Q
0
4 o Accessories lary| Description A -
5094 & 5190/5132 | 7&4| M5*8 BHSCS & Econ T-nut
5099 & 5139/5135  7&4 M6*12 BHSCS & Econ T-nut
"Wkl [ A T8 T€ [ Twetitq] Compatbly e B e
6192 150(116/ 90 |88 | 0.17 3090 & 3090 '
6193 200/156/120 118|  0.47 40120 & 40120 Model | A |8 [€]o]  [Weight(kg) [ Compatbilty code
6085|100 60 |20/4/53  0.089 20
'E)' Accessories ary i Description 6086 {150 90 30!4 63 0102 30
] 5098 & 5139 & 5343 | 16&7&2  M6*10 BHSCS & Econ T-nut 6087|200, 120.4016 83| 0265 40
© 5102 & 5144 & 5345 | 16878&2 M8*16 BHSCS & Econ T-nut _ £0881225/13/4016183 | 0,298 B m
[
(8 12 Hole Cross-Joining Plate o, 16 Hole Cross Joining Plate
2 l'nlllilll |
G ° I
. A
00 2000 |
® e . 000 ®
S LY

I

Model | A | B | C| D Weight(kg) Compatibility code  Accessories | QTY Description
6194 150/12030/60, 015 | 3030&3060 5099 & 5139 |16&8| M6*12 BHSCS & Econ T-nut
6195 200|160/40/80 0.41 4040 & 4080 5103 & 5144 |16&8| M8*18 BHSCS & Econ T-nut
Accessories Qry Description Model A|B | C Weight(kg) | Compatibility code
5099 & 5139 |12&6| M6*12 BHSCS & Econ T-nut 6089 60180 120/ 0.168 3060
5103 & 5144 |12&6| MB8*18 BHSCS & Econ T-nut 6090 80|240 160, 0.469 4080




- A

4 Hole 15°Aquininu Plate

2.

—
)

MEXFRAME §>

|
o
o
l

N

y/a,

Model |A|B | C | Weight(kg) | Compatibility code Model |A| B | C | Weight(kg) | Compatibility code
- 6091 |80/94/15°|  0.107 40 6092 80| 93.37 [30°| 0.107 40
Q 5 AT
% Accessories  |QTY Description Accessories | QTY Description
© 5102 & 5144 |4&2| M8*16 BHSCS & Econ T-nut 5102 & 5144 |4&2| M8*16 BHSCS & Econ T-nut
g 6 Hole 30°Angle Joining Plate 4 Hole 45°Angle Joining Plate
S N .

L\Y
S

KA J

Accessories QTyY Description
5103 & 5144 |6&3| M8*18 BHSCS & Econ T-nut

)

Model |A| B | C | Weight(kg) | Compatibility code

6094 |80|120/45°| 0.125 40
Model |A B C | Weight(kg) | Compatibility code = = an i
6093 80| 133.38 30°|  0.154 40 SEESIONES ETIPEDN
5102 & 5144 |482| M8*16 BHSCS & Econ T-nut




| 6 Hole 45°AnLelniniml Plate 4 Hole 60° A@n Bininn Plate

MEXFRAME ]
\§
\\\Q 3 c 3
Q
\ 0
5102 & 5144 |6&3| M8*16 BHSCS & Econ T-nut 6096 |80/120/60°|  0.13 40

Accessories QTyY Description

Model |A| B | C | Weight(kg) | Compatibility code
5102 & 5144 |4&2| M8*16 BHSCS & Econ T-nut

6095 |80/160/45°| 0.173 4080 & 4040

6 Hole 60°Angle Joining Plate

@-
"

120mm1160!l|m Pivot Arm m

e
2

(8]

g
(-]
O
&
(&

A

==

;

AT T
[

Q
Q
J =

Accessories Qry Description
Accessories QrTy Description 5098 & 5139/5343 |3&1&1| M6*10 BHSCS & Econ T-nut
- 5103 & 5144 |6&3| M8*18 BHSCS & Econ T-nut - 5102 & 5144/5345 |3&1&1| M8*16 BHSCS & Econ T-nut
Model |A| B | C | Weight(kg) | Compatibility code Model |A| B |C|D|E| F |Weight(kg) | Compatibility code

6097 |80|160/60°| 0.177 4080 & 4040 6098 |28/120(60(30(15| 15 0.041 30

6099 |38/160/80/40|20| 19.9 0.095 40




3 Hole ﬂvot Arm 3 Hole Pjv{ot Plate

MEXERAME 5 e

£
i
8

o
/ Dl R
/727

A
\/\ /C
Accessories Qry Description
Accessories Qry Description 5105 & 5142 |8&4| M8%*25 BHSCS & Econ T-nut
- 5102 & 5142 |6&4| M8*16 BHSCS & Econ T-nut 5234 1 M8*65 SHCS
Q
% Model |A|B|C| D |Weight(kg) | Compatibility code Model |A|B|C|D| E |F| G |Weight(kg) Compatibility code
E 6100 |80|6|40|#8.3 0.077 4080 & 4040 6101 [40/20{12|80(120|6|@8.3 0.118 40
(8 3 Hole Pivot Plate f [ 5 Hole Pivot Plate
z ‘ ~
S E | C s

@®
=7

o
o
i
b

=

Accessories Qry Description —a : : 1 A ecedionics Qry Description

Y I8 5104 & 5144 | 1688| M8*20 BHSCS & Econ T-nut
5248 & 5076 | 1 M6*60 SHCS & Flange nut 526185077 | 1 M8*70 SHCS & Flange nut

Model |A|B|C|D|E| F | Weight(kg) | Compatibility code

Model |A|B|C|D| E |F| Weight(kg) | Compatibility code
6196 (30/60|30|15/60|7.5| 0.091 3060

6102 |40/20|80|12|120|6| 0.22 4080




0° Pivot Nub

90mm/120mm Pivot Arm

M

MEXFRAME

[Py

Model |A|B C D | Weight(kg) | Compatibility code

A\
A
N

Accessories Description 6105 [30/15| M6 SHCS (IM6|  0.064 30
5098 & 5139/ 5343 |3&1&1| M6*10 BHSCS & Econ T-nut 6106 140120/ M8 SHCS |M8|  0.146 40
5102 & 5144/5345 |3&1&1| M8*16 BHSCS & Econ T-nut
o ; = Accessories Qry Description
3 Model |A| B |C|D| E | Weight(kg) | Compatibility code 523285135 | 1 | M6*25 SHCS & Econ T-nut
E :igi ;: 19200 jg Zg 223 ggzz Zg 5112 &5142 | 1 | M8*40 SHCS & Econ T-nut
(8] 90° Pivot Nub [ = ] Universal Pivot Nub
2 -
(& ) —
&

{ —

‘ d 8 = =

Accessories Qry Description
5232 & 5135 | 2 | M6*25 SHCS & Econ T-nut
5112 & 5142 | 2 | M8*40 SHCS & Econ T-nut

Accessories QTy Description
5232 & 5135 | 1 | M6*25 SHCS & Econ T-nut
5112 & 5142 | 1 | M8*40 SHCS & Econ T-nut

- — Model |A|B|C D E | Weight(kg) | Compatibility code
Model |A|B C D | Weight(kg) | Compatibility code 6109 130/15/60/ M6 SHCS [M6! 0.064 3060
6107 130/15| M6 SHCS |M6]  0.064 30 6110 40/20/80| M8 SHCS |M8|  0.148 4080
6108 |40/20| M8 SHCS |M8| 0.146 40




| Standard Pivot Nub Assemblies-30 Series

"L"Pivot Arm
MEXERAME Accessories
Nub to Profile M6*25 SHCS & Econ T-nut
Nub to Arms M6*12 BHSCS
Arm to Profile M6*25 BHSCS & Econ T-nut

Accessories Qry Description

5098 & 5139 [2&1| M6*10 BHSCS & Econ T-nut ORI F— " ) -

5102 & 5144 |2&1| M8%*16 BHSCS & Econ T-nut
] e )
5 Model |A|B|C|D| Weight(kg) | Compatibility code e o 1 2
E 6111(30/60(30/15|  0.02 30 6601
0 6112 |40/80{40/20| 0.066 40 J Weight: 0.085 kg

e

8 -
2 ‘- o 1 2
(&) 6602

Weight: 0.085 kg

1|2

Weight: 0.133 kg

LIS

6604 1 2

Weight: 0.085 kg

O o AN

— )
6605 1

Weight: 0.133 kg

B . e

. 1

Weight: 0.085 kg




Standard Pivot Nub Assemblies

-40 Series 0° Right Angle Living Nub
MEXZRAME
3
Accessories A
Nub to Profile M8*40 SHCS & Econ T-nut
Nub to Arms M8*16 BHSCS
Arm to Profile | M8%*16 BHSCS & Econ T-nut /
.“‘/ = S
6106| sw8| s10| sw0a| 62 - pocessones |G Deseription
& Q v / 5232 &5135 | 1 | M6*25 SHCS & Econ T-nut
@ Q‘ @ & |}* 3 5112&5142 | 1 | M8*40 SHCS & Econ T-nut
A
'E,' 0* Nub 50° Nub | Univergal Nob [iOmni2emAm| 1" Am Model A|B|C|D E F | G | Weight(kg) | Compatibility code
R~ _ 6123 130/30/15 15 M6 SHCS |15/M6| 0.033 30
‘é \‘u‘ﬁ",}‘j, 1 2 6124 40/40/20/20 M8 SHCS |20/ M8|  0.156 40
' &Y L
(- a] 5687 g
) e i ] 90°Right Angle Living Nub
< - ight Angle Living Nu
(== (1] |2
5608
Weight: 0.085 kg
7 A
1|2
6609
Weight: 0.133 kg
LA \{ (
w 2 -
Weight: 0.085 kg - :
// Accessories | QTY Description
oL ) g 5232&5135 1 | M6*25 SHCS & Econ T-nut
6611 1 2 5112 &5142 | 1 | M8*40 SHCS & Econ T-nut
Weight: 0.133 kg
| Model [AlB/cIDp] E |F| G| weight{kg) | Compatibility code

6125 30/30/15/15/ M6 SHCS |15|M6 0.033 30
6126 |40/40/20/20/ M8 SHCS 120|M8|  0.156 40




Universal Right Angle Living Nub ] Right Angle Pivot Nub Assembly-30 series
MEXFRAME :
Accessories
\ Nub to Profile | M6*25 SHCS & Econ T-nut
A Nub to Arms M6*12 BHSCS
Arm to Profile M6*25 BHSCS & Econ T-nut
6123 6125
Acessories Qry Description
5232 &5135 | 2 | M6*25 SHCS & Econ T-nut /
5112 & 5142 | 2 | M8*40 SHCS & Econ T-nut 0° Nub 90° Nub | Univergal Nub [90mm/120mmAm]  “L" Am
Model |A| B |C| D E F| G | Weight(kg) | Compatibility code s
' 6127 |30 58.7 |15| 14.35 | M6 SHCS |15|M6|  0.064 3060 ey 1 2
- 6128 |40| 78.7 |20{ 19.35 | M8 SHCS |20{M8| 0.311 4080 6624
(&) | Weight: 0.107 kg
¢
= -
<o/ 11| |2
O 6625
2 Weight: 0.107 kg
(&)

| 6‘:;26 1 2

Weight: 0.152 kg

LN

| 2

Weight: 0.107 kg

EU N U N

— )
6629 1

Weight: 0.147 kg

L X B 3

Q. )
6628 1

Weight: 0.104 kg




Right Angle Pivot Nub Assembly - — \ -
-40 Series 90° Pivot Bracket
MEXFRAME
Accessories
Nub to Profile | M8*40 SHCS & Econ T-nut
Nub to Arms M8%*16 BHSCS
vt Profile M8%16 BHSCS & Econ T-nut
M8*16 FHSCS & Econ T-nut
6124 6126 6128 6104 6112 Accessories Qry Description
= N\ \ . 5098 & 5139/5343 |4&2&1| M6*10 BHSCS & Econ T-nut
@ Q ‘ T eo e 5102 & 5144/5345 | 4&2&1| M8*16 BHSCS & Econ T-nut
0° Nub 90° Nub Univergal Nub [00mm/120mm Am|  “L” Amn Model A B |[C D E F G We1ght(kg) Compatlblllty code
613390 | 30 |15/ ¥6.3 | @8 |(¥6.3|3.36/ 0.048 30 Left
1.-,' e | 613490 | 30 |15 6.3 | @8 |¥6.3(3.36| 0.048 30 Right
5 s 1 2 6135(120| 40 (20| 8.3 | @10 |@83)536| 0.155 40 Left
4 6634 6136(120| 40 |20/ @83 | @10 |@8.3|5.36| 0.155 40 Right
E Weight: 0.327 kg
om - s
g Sa g 1 2 st 180° Pivot Bracket
6635 LNR
o Weight: 0.327 kg

112

Weight: 0.488 kg

\m

Q\Q\Q/\

Daswe = .
=B 2| | | e=m
6637
Weight: 0.323 kg
[
, ) \ = -
. AN = s Accessories QTyY Description
6639 l 2 Heeteod 5098 & 5139/5343 | 6&2&1| M6*10 BHSCS & Econ T-nut
Weight: 0.484 kg 5102 & 5144/5345 |6&2&1| M8*16 BHSCS & Econ T-nut
W .« 8%
— g_;} 2 Model | A |B|C| D | E | F |G| H | Weight(kg) | Compatibility code
6638 1 6137 /150/30(15|@6.3| @8 |@6.3|4| 90 0.069 30
e m— 6138 200(40/20/ ¢¥8.3| #10|®8.3/6/120| 0.245 40




Pivot Bracket Assemhly-90°
£ - == A
==t
ﬂ -
|

e
2

(8]

g
(-]
O
&
(&

1-PB104

{: |
t'\*i}\ 1,1

PB107

Ao—

__ pa108

— = )N




) -

».23,

’ 1Ny WA

AN
14

:
4

9 I
C s
O ¢
opm U
wd T
© &
A
lp
ol
QE
<3

6




ALUMINUM EXTRUSION
PROFILE AND ACCESORIES




MeEeX~FRAME

Sales & &chnical Support @ viratechnologies.net
at Mexico, Honduras, El

Salvador and Nicarag - e 656-664-7180Ext. 107

o Julimes 6002 Col. Hipsdromo C.P. 32685
Cd. Juarez, Chihuahua, México

INDUSTRIAL



	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4: MM-45x45
	Diapositiva 5
	Diapositiva 6: MM-30x30
	Diapositiva 7: MM-60x60L
	Diapositiva 8
	Diapositiva 9
	Diapositiva 10
	Diapositiva 11
	Diapositiva 12
	Diapositiva 13
	Diapositiva 14
	Diapositiva 15
	Diapositiva 16
	Diapositiva 17
	Diapositiva 18
	Diapositiva 19
	Diapositiva 20
	Diapositiva 21
	Diapositiva 22
	Diapositiva 23
	Diapositiva 24
	Diapositiva 25
	Diapositiva 26
	Diapositiva 27
	Diapositiva 28
	Diapositiva 29
	Diapositiva 30
	Diapositiva 31
	Diapositiva 32
	Diapositiva 33
	Diapositiva 34
	Diapositiva 35
	Diapositiva 36
	Diapositiva 37
	Diapositiva 38
	Diapositiva 39
	Diapositiva 40
	Diapositiva 41
	Diapositiva 42
	Diapositiva 43
	Diapositiva 44
	Diapositiva 45
	Diapositiva 46
	Diapositiva 47: Accessories Aluminum Angles
	Diapositiva 48
	Diapositiva 49
	Diapositiva 50
	Diapositiva 51
	Diapositiva 52
	Diapositiva 53
	Diapositiva 54
	Diapositiva 55
	Diapositiva 56
	Diapositiva 57
	Diapositiva 58
	Diapositiva 59
	Diapositiva 60
	Diapositiva 61
	Diapositiva 62
	Diapositiva 63
	Diapositiva 64
	Diapositiva 65
	Diapositiva 66
	Diapositiva 67
	Diapositiva 68
	Diapositiva 69
	Diapositiva 70
	Diapositiva 71
	Diapositiva 72
	Diapositiva 73
	Diapositiva 74
	Diapositiva 75
	Diapositiva 76
	Diapositiva 77
	Diapositiva 78
	Diapositiva 79
	Diapositiva 80
	Diapositiva 81
	Diapositiva 82
	Diapositiva 83
	Diapositiva 84
	Diapositiva 85
	Diapositiva 86
	Diapositiva 87
	Diapositiva 88
	Diapositiva 89
	Diapositiva 90
	Diapositiva 91
	Diapositiva 92
	Diapositiva 93
	Diapositiva 94
	Diapositiva 95
	Diapositiva 96
	Diapositiva 97
	Diapositiva 98
	Diapositiva 99
	Diapositiva 100
	Diapositiva 101
	Diapositiva 102
	Diapositiva 103: Applications of aluminum proﬁle and accessories
	Diapositiva 104
	Diapositiva 105

